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The following table represents the percentage expenditure of the annual income of six persons
A-F on six differentitems, namely, Food, Rent, Transport, Clothes, Entertainment and Miscellaneous.
Based on the data in the table, answer the questions that follow.

Person-wise Expenditure Details

S Percentage (') Expenditure from Annual Income on
Food | Rent (Transport|Clothes [Entertainment| Miscellaneous
A |2180% | 15.0% | 184% | 125% 13.3% 19.0%
B [1720% | 18.0% | 22.6% | 15.0% 11.4% 15.8%
C | 4.0% | 163% | 148% | 11.2% 7.8% 25.9%
D | 18.0% | 195% | 15.5% | 12.0% 16.4% 18.6%
E[2020% | 164% | 17.5% | 14.0% 8.6% 23.3%
F123.60% | 185% | 16.0% | 13.8% 11.0% 17.1%

Sub questions

Question Number : 1 Question Id : 53307217123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[f the annual incomes of B and C are ¥ 432000 and ¥ 528000, respeclively, then what is the difference
between the amount spent b}f them on Transport ?

(1) T1819
() T18828
(3) T19216
() T 19488

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 53307217124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the amount of money spent on food by C and D is ¥ 144000 and ¥ 172800, respectively, then the
annual income of C is % of the annual income of D.

(1) 475
(2) 60
(3) 625
(1) 120

Options :



1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307217125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the annual income of each of C and D is T 840000, then what is the sum of the amount spent by
C on Rent and that by D on Miscellaneous items ?

(1) 288820
() 290520
(3) 293160
(4) 295700

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307217126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the monthly income of A and D are ¥ 80000 and ¥ 72000, respectively, then the amount of
money spent by A on Rent is % more than the amount spent by D on clothes.
(1) 3262

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 53307217127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the annual income of each of the six persons is ¥ 3 lakh, then the amount of money spent on
clothes is more than ¥ 41800 by exactly persons,

(1) 2
@ 3
(3) 4
@ 5
Options :
1.1
2.2
3.3
4.4

Question Id : 53307217122 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

firet aferery # @ oiferel A-F g1 %% ot g, e, feren, ofteet @), AR @ fafay w1 fog o
S-S AR T3 o Fv o9 1 SO A | i H YT S o S W A Y8 T WA &
W
FAfe-ar o7 ferawo
e o & e o o7 1 e (%)

wr | e | viee | e | W | it
21.8% | 15.0% | 184% | 125% | 13.3% | 19.0%
172% | 18.0% | 226% | 15.0% | 114% | 15.8%

A
B
C | 4% [163% |148% | 112% | 7.8% |259%
D
E
F

e

18% |19.5% [155% | 12.0% | 164% | 18.6%
202% | 164% | 17.5% | 14.0% | 8.6% |23.3%
23.6% | 18.5% | 16.0% | 13.8% | 11.0% | 17.1%

Sub questions

Question Number : 1 Question Id : 53307217123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



7fe B 4 C %1 e AT/ FA: 432000 T 528000 % 9 376 5N 9o W o 1 T U & o
1 S o 87

(1) 1849

) T18828

(3) T19216

(4) T 19488

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 53307217124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 C 3% D gR B R 59 T FH: T 144000 S Z 172800 % T C 3 il 1 D F1 3ffes o =
%R

(1) 475

2 60
(3) 625
() 120
Options :
1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307217125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7fe C SR H B el 1 fiie a7 2 840000, T C g fere R =79 7fe 47t D g fife g o
Tt 71 A fere &7

(1) 288820

(2) 290520
(3) 293160
(4) 295700
Options :
1.1

2.2



3.3
4.4

Question Number : 4 Question Id : 53307217126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 A SR D 1 WG 9 59 T 80000 T 72000 %, T A 5 o0 W 579 TR0 D §R #9€ W o4
Tt | % ¥ g

(1) 3262

(2) 3889
(3) 36.54
(4) 34.24
Options :
1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 53307217127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afe 3% el 1 4 Yo o it o T3 e R, 61 e @ -3 fove ool g el w o
T T % 41800 ¥ 31fr &7
(1)

2

T He= 2

2
G)
4

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 533072672
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 53307217128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arelationship in which aless-experienced learner acquires knowledge and skills under the guidance
of an expert is known as :

(I) Cloud computing
(2) Cognitive load
(3)

(

4)  Collective munnlogue

Cognilive apprenticeship

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 53307217128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o HalY o ST el AfemTeRl ferel oo o WY W S SR Il ATl o ¢,
FEAN ¢

(1) HMSS Fe

(2) HRIFRHE 4

(3) R F
(4) T T
Options:

1.1

2.2

3.3
4.4

Question Number : 7 Question Id : 53307217129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of swayamprabha channel - 15 with the theme of ‘Capacity Building and Teacher
Education’ is provided by :

(1)  CEC, New Delhi
(2) 0T Delhi

(3) IGNOU, New Delhi
(4) 1T Kanpur

Options :
1.1



2.2
3.3
4.4

Question Number : 7 Question Id : 53307217129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR - 15 e e e Fi o s foen' ® R fowg-ang fovriea o @ frger gm0
T T W ¢ :

(1) HEd % fod

D) o &R &, feed

3) 3, % foeeh

1) 9T g & F

Options :

1.1

2.2

3.3
4.4

(
(
(

Question Number : 8 Question Id : 53307217130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the sub-types of long term memory ?
(A) Episodic memory

(B) Semantic memory

(C) Procedural memory

(D) Priming

(E) Class conditioning effects

Choose the correct answer from the options given below :

(1) (A), (B), (O, (D) and (E)

(2) (B), (D) and (E) Only

(3) (A), (B) and (C) Only

4) (©), (D) and (E) Only

Options :
1.1
2.2
3.3
4.4



Question Number : 8 Question Id : 53307217130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIEeRITeTeh Jfd & 39-9%9 © :
(A) S Tyfa

(B) =t wfa

(C) HiFaTcHF Tyfd

(D) FTEATF (T5H)

(E) ohell-3Tgeher 99

= feu T ferpedi § 9 9@ IR A =94 HIN
(1) (A), (B), (C), (D) ¥R (E)
(2) %9 (B), (D) ¥R (E)
(3) A (A), (B) R (C)
(4) Fad (C), (D) 4R (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 53307217131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A marke ting instructor wants to engage students by conduc ling live pulls during an online lecture
o ga ther instant feedback on markeh'ng sI'_rategies. Which of the fo ]lowing tools should the instructor
use for creaﬁng and displaying po]ls ?

(A) Adobe Illustrator
(B) Slido
(C) Straw Poll
(D) Camtasia

(E) Flipgrid

Choose the correct answer from the options given below :
() (A), (B) and (E) Only

(2) (A) and (D) Only

(3) (B) and (C) Only

(4 (©) (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 53307217131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feT $TCeR SFTETEH SR o SR foom Torfet 3 ait o deafors Sfgfie v e o fo e
et R (ool &1 30 fn i O e €1 T (FREH) F9 ai 3 e 0  fo
STe 1 fwafeifan & ¥ g Sy & T e e

4 fou T foedl # # Wl T T FIC
(1) @ (A), (B) ¥ (B
(2) I (4) 4R (D)
() A (B) ¥ (C)
(&) e (C), (D) 4 ()



Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307217132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

An English teacher asks students to create a multimedia presentation analysing a novel's themes,
characters, and literacy devices. Which assessment method is most suitable to check the real time
progress of students ?

(1) Authentic Assessment

2)  Summative Assessment
3

(
(
(4

)
) Norm-referenced Assessment
) Ipsative Assessment

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307217132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

) 1 5 inerh <7 fernfol 1 it e T ) o forw o € fove v & e,
o wfeferer gfl 1 faverm gffen @1 fonf @t wwifan (fom emw) wife i & o

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 53307217133 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Identify the main preoccupations of qualitative researchers.
(A) Emphasis on process

(B) Emphasis on generalization

(C) Emphasis on context

(D) Emphasis on description

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

4) (A), (C) and (D) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307217133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TUTIeHeR YEhdiaA bl THE Y- SRS 1 =4 I ;
(A) 9k T 9

(B) HIHIRIHII T &

(C) ey W ad

(D) U T Fd

= feu Tu foshedi H € Wal SO okl 997 HifaU :
(1) A (A), (B) 3R (O)

(2) &= (B), (C) ¥R (D)

(3) = (A), (B) R (D)

(4) &= (A), (O) 3 (D)

Options :

1.1

2.2

3.3
4.4



Question Number : 12 Question Id : 53307217134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Two researchers obtain similar results while investigating a problem following different
methodologies. Their measurements show :

(I) Interrater validity

(2) Convergent validity

(3) Construct validity

(4)  Test-Retest validity

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 53307217134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

< Ve Yok et wfaferdl & mem 4 foreh v o e T g frem- e o e e €|

e I 1 3

(1) & Ay dva
(2) S oo
(3) Fafifa au
(4) -G S
Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307217135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
(Abbreviations) (Meaning)
(A) ante., (I)  here and there
(B) «cf. (II) and others
(C) etal., (ITlI) compare
(D) passim: (IV) before

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(LL), (C)-(1T), (D)-~(I)
(2)  (A)-(I), (B)-(1V), (O)~(D), (D)-(ID)
(3) (A1), (B)-(l1), (C)-(IV), (D)-(I)
(4)  (A)-(I), (B)-(LI), (C)~(I), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307217135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 TEt-11
(wfgrmamer ) (3ed)
(A) ante., () =@ SR a@l
(B) «cf. (1) 3 7=
(C) etal., (II1) T T
(D) passim: (V) g

= feu 7o fasredi § 9 |8 SO 1 =94 6T
(1) (A)-IV), (B)-(IIT), (O)-(10), (D)-(D)

(2) (A)-(ID), (B)~(IV), (OD), (D)-(ID)

(3) (A1), (B)-(ID), (O)-(IV), (D)-(I)

(4)  (A)-D), (B)-(L), (C)-(I), (D)-(IV)

Options :

1.1



2.2
3.3
4.4

Question Number : 14 Question Id : 53307217136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the non-probability sampling techniques :
(A) Systematic sampling
(B) Simple random sampling
(C) Snowball sampling
(D) Purposive sampling
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (C) and (D) Only
(3) (A), (©) and (D) Only
),

(4) (A), (B) and (C) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 14 Question Id : 53307217136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-gifaerar Ifa=ram dehienl =1 =199 hiTIU
(A) gHafeyd gfd=a9

(B) HHF AEI=seh Yld=m

(C) feuswr<s (HEe) Hfd=ad

(D) Higwd gfcer

= feu o faeredi # | W& IO A1 =949 HIfAT
(1) <A (A) 3R (B)

(2) 9 (C) R (D)

(3) HFA (A), (C) 3T (D)

(4) 9 (A), (B) 3R (O)



Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 53307217137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the parametric tests used for statistical analysis.

(A) ttest

(B) H-test
(C) F-test
(D) U-test

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (C) Only

(3) (C) and (D) Only

(4) (A)and (C) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 15 Question Id : 53307217137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gifersrg favem & foau 9gaa ymafas wieni #1 =99 i |
(A) F-Tdem

(B) =-TRIET

(C) TH-HIaT

(D) F-Td&

= Tou U fashedi ® © Wal SO ol 997 HifaU
(1) Faa (A) 3R (B)

(2) E (B) 3R (C)

(3) A (C) 3T (D)

(4) FEE (A) IR (C)

Options :

1.1

2.2

3.3
4.4

Question Number : 16 Question Id : 53307217138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The etic approach to communication is ____in character.
(1) Restrictive

(2) Mechanical

(3) Universal

(4) Non-cultural

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307217138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR &F FaERIF SHhI H] WEY gl

(1) gfd=eeh

(2) AAE

(3) wrEYiEE
(4) TR-HiERfTF
Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307217139 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ferdinand de Saussure’s approach to the study of signs is described as :

(1) Semiology

(2) Semantics

(3) Signification

(4) Signifying system
Options:

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307217139 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRl % A F AN W e T U % gfewm A fR yen A o s e
(1) w&o-fogm
2)  Vegeifom™

Options :
1.1
2.2
3.3



4.4

Question Number : 18 Question Id : 53307217140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Marshal McLuhan, examples of high definition media are :
(A) Speech

B) Photograph

(C) Radio

(D) Cinema

(E) Cartoon

Choose the correct answer from the npl‘inns given below :

(1) (A), (B) and (C) Only
(2)  (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4)  (A), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 53307217140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HTe Heheled & ST99R 999 TYwdl Hiear & 38R 78 €
(A) T

(B) THIERNT®

(C) e

(D) e

(E)
A1 feu T forkedi & | W&t I 1 =4 I ;
(1) Fad (A), (B) 3R Q)

(2) %A (B), (O) 3R (D)
(3) %= (C), (D) #HR (E)
(4) 9 (A), (D) IR (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 53307217141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct chronological order of the following :
(A) First binary computer by Britishers

(B) Printing press

(C) Plan for mechanical computer

(D) Single-screen motion picture exhibition

(E)  First public broadcast of television

Choose the correct answer from the options given below :
(1) (@A) (©), (E), (D) (B)

(2 (B), (©) (D), (E), (A)
(@) (©), (E) (A) (B), (D)
4) (D) (A), B), (O (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 53307217141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafes =1 Fresraar w2l 3H | fuffa =+
(A) fofesri gra geen fg-smeml seget

(B) Tufém ug

(C) HifFeh FH <k forT =4S

(D) TEHA-THA TIfa foeer TeeHT

(E) <fcfasH =1 9gel |refsieh JHr

9 feu o fawedi # € WE S & =99 FHi

(1) (A), (©), (B), (D) (B)
(2 (B), (O) (D), (E), (A)
@) (©), () (A), B), (D)
(4) (D) (A), (B), (O) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 53307217142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Authors) (Concepts)
(A) Roland Barthes () Doxa
(B) Pierre Bourdieu () Hegemony
(C) Antonio Gramsci (III) Simulation
(D) Jean Baudrillard (IV) Myth

Choose the correct answer from the options given below :
(L) (A)HD), (B)-(I), (O)-(), (D)-(IV)

(2)  (A)-(1D), (B)-(IL), (C)-(1V), (D)-(I)

(3) (A)-(I), (B)~(IV), (O)-(), (D)-(L)

(4)  (A)-(IV), (B)-(D), (C)-(I), (D)~(II)

Options :

1.1
2.2



3.3
4.4

Question Number : 20 Question Id : 53307217142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tet-1 9 g1 # e wifs

eii-1 it-11

(orEeh ) ( ST )
(A) Tctve aefg () SHYR (EiET)
(B) oAy aifeg () 9= (S
(C) ufefTn urdt (D) SFHE (FagemH)
(D) S aEfgars (1v) faeres (fHe)

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1) (A)(I), (B)-(II), (C)~(IIL), (D)-(IV)
(2) (A1), (B)-(I1L), (C)-(IV), (D)-(I)
(3) (A1), (B)~(IV), (O)-(1), (D)-(1I)
4) (A)-(IV), (B)-(I), (C)-(L), (D)~(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307217143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A sum of money is equally divided among a number of children. Had there been 10 children less,
each would have received ¥ 5 more, and had there been 10 children more each would have received
<3 less. What is the sum of money that is distributed ?

(1) 300
(2) 600
(3) 750
(@) 900

Options :
1.1
2.2



3.3
4.4

Question Number : 21 Question Id : 53307217143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ST 1 79 e § a0 el T S R 10 9 W N, T T o 35 S T 2 o
3R 10 759 S 0 79 FOF I T3 W VW B | e TS e o a

(1) 300

(2) 600
(3) 750
(4) 900
Options :
1.1

2.2

3.3
4.4

Question Number : 22 Question Id : 53307217144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the wrong term from the given series :
125, 126, 124, 127, 123, 129

(1) 126
(2) 124
(3) 123
(4) 129
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 53307217144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



& T4 digen § o Ted UE o1 A e |
125, 126, 124, 127, 123, 129

(1) 126

(2) 124
(3) 123
(4) 129

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307217145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the selling price of ¥ 276 results in a discount of 8% on the marked price of an item, at what price
should the item be sold to offer a discount of 13% ?

(1) 265

() 21
(3) %257
(4) 261

=y

Options:
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307217145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e forlt e 1 e FE T 8% H G2 F TROTEAEY I oA 0 T 276 %, W I W W 13%
% ¢ o1 & folt 34 Tl 1w R o= 1 =fgw ?

(1) 265

) Tl
(3) T257
(4) 261
Options :
1.1

2.2



3.3
4.4

Question Number : 24 Question Id : 53307217146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ina certain coding language, the word “TRAIN' is coded as "VPCGP, then the word PROUD’ will
be coded as :

(1) QSPVE

(2) RPQSF
(3) RQPTF
(4) RQQSE
Options :
1.1

2.2

3.3

4.4

sl

Question Number : 24 Question Id : 53307217146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e Fca 9T H, 6 ‘TRAIN' #1 'VPCGP' ¥ fed fer ST &, 9@ W% ‘PROUD’ %1 32
|
(1) QSPVE
() RPQSF
(3) RQPIF
(4) RQQSE
Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 53307217147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



7 pumps, working 10 hours a day, can empty a tank in 20 days, How many hours a day must 5
pumps operate to empty the tank in 14 days ?

(1) 20 hours

(2) 18 hours

(3) 16 hours

(4) 14 hours

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 53307217147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

77 9ot 10 52 F 0 0 o 20 fe ¥ el w S €1 o o A 14 fe o el A 2 5
T 1 FfefeA fe 5 9 O =

(1) 20%

(2) 18%

(3) 16%
(4) 4%
Options:
1.1

2.2
3.3
4.4

Question Number : 26 Question Id : 53307217148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which fallacy is committed in the following argument-“Ambassador cars have almost disappeared.
This is an ambassador car, Therefore, this car has almost disappeared” :

(I) Equivocation

(2) Fallacy of Division
(3) Hasty Generalization
(4)  Slippery Slope

Options :
1.1



2.2
3.3
4.4

Question Number : 26 Question Id : 53307217148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A1l €1 T 9 7o QI ¢ | SPaet R G T € T € | 7 U STt €| e,
T I N 9 & T 2

(1) S

(2) foe 7 3

(3) o

(4) foEeFER Bem

Options :

1.1

2.2

3.3
4.4

Question Number : 27 Question Id : 53307217149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true regarding contrary propositions ?
(A) They cannot both be true

(B) They cannot both be false

(C) They can both be false

(D) If one is true the other must be false

Choose the correct answer from the options given below :

(I) (B) and (C) Only

(2) (A), (B) and (C) Only
(3) (A), (©) and (D) Only
(4) (D) Only

Options :

1.1

2.2

3.3

4.4



Question Number : 27 Question Id : 53307217149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fre # | 3 | e faia wfaaferdi % fawa § 98 2
(A) o SHI T el & Hahd |

(B) % TMl WA el &l ekl |

(C) &Ml 319 2 Hehd © |

(D) PR U T ¢ o GO T8cd 81 =fe |

= Tou U fashedi ® © Wal SO ol 997 HifaU

(1) A (B) SR (C)

(2) ¥ (A), (B) IR (Q)

(3) ad (A), (C) ¥R (D)

(4) FEd (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 53307217150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) Some non-dogs are non-friendly animals

(B) Some dogs are friendly animals

(C) Some friendly animals are dogs

(D) All dogs are friendly animals

Choose the correct answer from the options given below :
(I) (B) and (C) Only

(2) (B) and (D) Only

(3) (A), (B) and (C) Only

4) (A) and (D) Only

Options:

1.1

2.2

3.3



4.4

Question Number : 28 Question Id : 53307217150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=1 feu o el §f | 9 4 afFs T8 auded €2
(A) FB R-Fal T-THEa T B & |

(B) F® T fyed e 21 ¥

(C) F= fFad SHaT Fad 81 ¢

(D) Tt Fed e SR 2 € |

= Tou U fashedi ® © Wal SO ol 997 HifaU
(1) *FA (B) 3R (C)

(2) = (B) &R (D)

(3) I (A), (B) 3R (C)

(4) A (A) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 53307217151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the [U]lnwing are arranged in the order of increasing connotation ?
(1) Vertebrates, mammals, canine, labradors

q

2)  Mammals, vertebrates, canine, labradors
4) Labradors, canine, mammals, vertebrates

(
(3) Canine, labradors, mammals, vertebrates
(

Options:

1.1

2.2

3.3

4.4

Question Number : 29 Question Id : 53307217151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



=1 § & % aed onef e § eyafiym €2
(1) 9], WAL, YA, TTaUsR

(2) EHYRI, HIMEHRT, TAHME, TITSH
(3) VarE, TTEUER, TR, FEEE!
(4) TIOUER, YATEE, TN, FYE
Options :

1.1

2.2

3.3

4.4

Question Number : 30 Question Id : 53307217152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following arguments is fallacious because of the middle term being too narrow ?
(1)  All things are non-eternal because they are knowable

2
(3
(4

) Sound is eternal, because it is audible
) Fire is cold because it is substance
) Wherever there is fire, there is smoke

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307217152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e <1 Tt g W § i Ak SRieTy § ifer S HEATE 9gd Hehrdl ¢ 2
(1) |t oqu TR-9me € i o 39

() A YINea & Fifeh o 9 & |
(3) @ vfiet & it o wel €|
(4) o e off ot &, ol am g
Options :

1.1

2.2

3.3



4.4

Question Number : 31 Question Id : 53307217153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Mobile games were the first to popularize which uses an image of an actual place or
thing and adds digital information to it.

(I)  Virtual Reality

(2) Augmented Reality

(3)  Mixed Reality

(4)  Computer-Aided Design (CAD)

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307217153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AeTE el () 3 ] TG TR o1 S e et T poen o 31 Bt o
(1) o 2o

2

(3) e 2
(4)  Fop-wEen s (H TE)
Options:

1.1

2.2

3.3
4.4

Question Number : 32 Question Id : 53307217154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



An Internet standard that allows for adding media attachments to an email is called :
(1) MIME

(2) DHCP

(3) HDMI
(4) FIP
Options :
1.1

2.2

3.3
4.4

Question Number : 32 Question Id : 53307217154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

St o wife Yo el #1 o < 91 3T HHE F1 7 el S
() TaRTE

2) FwWHG
() TIE M
(4) THEAD

Options:

1.1

2.2

3.3

4.4

Question Number : 33 Question Id : 53307217155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - IL.
List - I List - II
(Malware) (Definition)
(A) Ransomware (I) Software that monitors and/or records the actions of targeted users.
(B) Spyware (I)  Asmallpiece of code that misleads users of its true intent by disguising
itself as a legitimate program and infects your computer when you
mn it
(€) Worm () Software that locks data files and demands a monetary payment in
exchange for unlocking.
(D) Trojan Horses  (IV) A piece of code that replicates itself to other devices without user
interaction
Choose the correct answer from the options given below :
(1) (M1, (BH0), (1), (DK
2) (AW, (BHIV), (CH, (KD
3) (MY (BHID, (CHI), (DM
{

@
3) (A)
() (AM), (B, (CHIV), DHI)
Options :

1.1

2.2

3.3

4.4

Question Number : 33 Question Id : 53307217155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el ¥ -1 1 e e
Tl -1l
( Wreera ) (fturer)
(A) Tamam (1) o e o en-ameel e e o siren e e o ST
(B) TR (I) %2 % U6 O TR W Wd H T o8 T % §UH G R A
SR W 2B e € 1R 9 37 g T & a1 38 W o <l ¢ |

(€ dn (I11) T W= S TS 1 Tl 0 3 T a1 el W S o T e
@l

(D) ZeHEH (V) 32 o1 U1 2o <1 ek .o o for1 o2 el 1 o a1 St
e

e o T fereredt ¥ 8 W& T A 7 H

(1) (A, B)-{), (OHLV), (DHII)
(&) (AHL), (BHLV), (CHD, DHI)
() (A, (BR(I), (CHI), (D)-(IV)
() (AHI), (BH), (CHIV), (DHI)
Options :

1.1

2.2

3.3

4.4

l)
1

Question Number : 34 Question Id : 53307217156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are advantages of e<commerce for consumers ?
(A) They save time by visiting websites instead of stores.

(B) They have little risk of having their credit card number intercepted.
(C) They can choose goods from any vendor in the world.

(D) They can shop no matter their location, time, or conditions.
Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (B) and (C) Only

(3) (A), (C) and (D) Only

@ (), (), (O and (D)

Options :



1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 53307217156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Iqufel & o 2-anfoe & e 6 4 - g @ €7

(A) 9 THEA T H T R T S H THI H TG F &

(B) 3% AT hfee HTE AN F AW U STH 1 dgd FH @ 2 |
(C) d gl R o TRl off fashan & Wict 1 9 Hehdl & |

(D) STT T, T a1eyen feofa it off €1, 9 @der & g €

A fou o forpedi # © W SO 1 999 FHIC ;
(1) ad (A) 3R (D)
(2) e (B) 3R (C)
(3) % (A), (C) ¥R (D)
(4) (A), (B), (C) 3R (D)
Options:
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 53307217157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If (L)y; represents a number L in base-M number system, then identify the correct ascending order
of the following numbers A-D when converted to decimal number system.

(A) (102),
(B) (10001),
€ (103)
(D) (201),

Choose the correct answer from the Dptions given below :

@ () @A) © D

@ (&) © D) 6
() (A), B) (D) ©)
@ @) @), D)0
Options :

1.1

2.2

3.3

4.4

Question Number : 35 Question Id : 53307217157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A% SHR-M e Tt H, (L), A L S ¢ o 7 gemed A-D i uwer wen gt
yfeafdd T STH T 3% Fl A8 A A T A
(A) (102),

(B) (10001),

(C) (103),

(D) (201),

el few 0 el W § W@ S 01 7 HAC

) @ A () D

) (4)©), (D)

) (A), ®) (D), (©

) (B) (&), (D), (©

Options:

1.1

2.2

3.3
4.4

2
K
(4



Question Number : 36 Question Id : 53307217158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the mission of International Solar Alliance ?

(I) Every home no matter how far will have electricity

(2) Every home will harvest solar energy

(3) Every home no matter how far away will have light at home
(4) Every home has to be carbon neutral

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307217158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FHEg GR sy (Z2YAe Hier TAmey) o1 fove o= 82
(1) sk =X H Torsredl 81, o1 2 =18 Toharl ot S IR RfEed 2

(2) F® =X H ER S IR B

(3) W =X H WA B o fehal Wit g wfte B |
(4) TF T FETHER B |

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307217159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Amount of destruction caused by an earthquake is measured by :
(1) Richter Scale

(2) Intensity Scale

(3) Magnitude Scale

(4) Mercalli Scale

Options :
1.1
2.2



3.3
4.4

Question Number : 37 Question Id : 53307217159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ey g1 gU faesy =6t A o1 o fRaes gry o < § 2

(1) Fa=t =hd g1

(2) TS ThRel g
(3) WIS Tha gH
(4) TIhell THA gA
Options :

1.1

2.2

3.3

4.4

Question Number : 38 Question Id : 53307217160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are consequences of Global Warming ?
(A) Change in Hydrological Cycle

(B) Species Migration

(C) Change in Ocean Circulation

(D) Ocean Acidification

(E) Sea level rise

Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only

(2) (A), (C) and (D) Only

(3) (B), (C) and (D) Only

(4) (A), (B), (O, (D) and (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307217160 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

frefafad § 9 ®FH-9 afvgs a9 (Telee anfeT) & afiom € 2
(A) ST =R | gfiedd

(B) irersmfcdl k1 gers

(C) THET G=or | gfiedq

(D) HHE T STFATRL

(E) HHgAe = ST i L TS

= U U fashedi ®§ € Wal SO ol 999 BT ;

(1) 9 (A), (B) 3R (E)

(2) = (A), (C) 3 (D)

(3) %dd (B), (C) ¥R (D)

4) (A, (B), (C), (D) & (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307217161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a disease caused due to exposure of Ulira Violet (UV)-rays, one of the
Environmental hazards due to ozone layer depletion ?

(1) Melanoma
(2) Erythema
(3) Teratoma
( 4

=y

) Carcinoma

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307217161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SIS ) TR % 4T F F O T A e e (UV) R 3 e § e @ v
Tl T & /

(1) W

o dim

(3) R

(4)

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 53307217162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Because of Biochemical Oxygen Demand (BOD), Dissolved Oxygen (DO) of a water body :
(1) Increases

2
3

4) Initially increases and then decreases

(2)  Decreases

(3) Remains unchanged
(

Options:

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307217162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W9 T " (H-3-21) F wRo R stenvr § foei st (S-3) ¢

(1) e

() WEEmE

(3) emftafia @ g

(4) Y H 9 ¢ SN 39 9% g2 ©
Options :

1.1

2.2



3.3
4.4

Question Number : 41 Question Id : 53307217163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

An IT giant company has its Global Education Centre at :
(1) Medak

(2) Ratnagiri

(3) Mysore

(4) Agartala

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307217163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl SRt (21 &) & 1 Uk oS o 1 fvee fen $g fea ®

(2) YomffH
(3) WA
(4) FRAEn
Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307217164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Indian Institute of management, Indore, was set up during :
(I) Eighth five year plan

(2) Ninth five year plan

(3) Tenth five year plan

(4) Eleventh five year plan



Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307217164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R Wit Gee (3o SR ot e, SN, @ v fmfefen S dee de %
< 1 T 4

(1) 3Teal e A

(2) Aol Terrdta At

(3) el Tead A

(4) T Feau A

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 53307217165 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The union government of India had in 2011 decided to establish a National Institute of Design in
the states of :

(A) Andhra Pradesh

B) Kerala

) Assam
) Goa

E) Haryana

(
(€
(D
(

Choose the correct answer from the options given below :
(I) (A), (B)and (C) Only
(2)  (B), () and (D) Only
(3) (A), (C) and (E) Only
(4) (D) and (E) Only
Options :

1.1



2.2
3.3
4.4

Question Number : 43 Question Id : 53307217165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 1 3 W A a6 2011 ¥ freedfin R & 0 o e e W (e $RbeR o
feme) wenfi & 1 foofg fomm o2

() smen
B)
(C) KLU
(D)
(E)

7 feu o forredt # B W S W w0

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 53307217166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The New Education Policy of 2020, suggested degree courses in :
(A) Development Communication

(B) Logic

(C) Art and Museum Administration

(D) Graphic Design

(E) Web Design

Choose the correct answer from the options given below :
(1) (A), (B)and (C) Only

(2 (B), (C) and (D) Only

(3) (©), (D) and (E) Only

(4) (B), (D) and (E) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 53307217166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

% fove +fifd, 2020 ¥ Freferfas fawd # & F0 @ foft S 1 gzm fen T
(A) ToERTEIHE HER

Options :
1.1
2.2
3.3



4.4

Question Number : 45 Question Id : 53307217167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following ancient scholars was a proponent of grammarian tradition ?
(1) Ishwarkrishna

Bhartrhari
3

2
(
(4

)

) Gautama
) Kanada
Options :
1.1

2.2

3.3

4.4

Question Number : 45 Question Id : 53307217167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfes g yrdr fagrl § 9 SF-91 fogm s Wa 1 yedrEds 917
(1) SyeTgo

(2) qeR
(3) T
(4) =R
Options:
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072673
Question Shuffling Allowed : No

Question Id : 53307217168 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension



Read the following passage and answer the questions.

Folk traditions provide and create a public space where some broader social values could be
generated and observed. The various folk genres through the creation of public space help in
bringing and observed. The various folk genres through the creation of public space help in bringing
into focus ideas, values and contentions into public discourse, a kind of unshackling of inhibitions
in a stress-free manner. The changes that modernity brings in its wake become more socially
acceptable and the conflicts that are created find a medium through which they can be resolved.
This public space or sphere has many constructive and pleasurable uses. Politics and religion are
notable instances in which the creation and sustenance of public space or sphere is very important
to achieve some agenda(s). The dynamism ingrained in public space or sphere shows complex
nuances and many trends especially when the nature of transformation is being analysed. There
seems to be a shift from a simple pleasure orientation to cater to multi-level interests of the performers
and patrons. Transformations are influenced by economics, politics and voices of dissent that find
various mechanisms of appropriation of public space for their own objectives. They widen the
base of debate and discussion transcending the involved units,

Sub questions

Question Number : 46 Question Id : 53307217169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Role of folklore in the society is :
(1) To provide entertainment only

(2) To generate and observe broader social value
(3) To restrict public discourse

(4) To resist social change

Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 53307217170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What does folklore contribute to public discourse ?
(1) It creates a public space for stress-free interaction

(2) It restricts the expression of ideas and values
(3) It promotes only traditional values

(4) It eliminates modern influences

Options :

1.1



2.2
3.3
4.4

Question Number : 48 Question Id : 53307217171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the influence of modemity on folk traditions and public space according to the text ?
(1) Folk traditions are disappearing.

(2) It has no effect on ancient tradition.

(3)  Itonly leads to conflicts without resolution,

(4) It makes social changes more acceptable.

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307217172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What influences the tranformations that can be observed in public sphere ?
(1) Multi-level interests of performers and patrons

(2) A static set of rules

(3) The absence of economic and philosophical ideas

(4) Simple pleasure orientation

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307217173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Public space :

(1) Widens the base of debate and discussion

(2) Ignores traditional knowledge system
(3) Insists more on individual growth
(4) Leads to suppression of human values

Options :



1.1
2.2
3.3
4.4

Question Id : 53307217168 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 53307217169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ToTSt T TR R i i 22

(1) Facl FARSH YSH

(2) AT WIS Hedl o gor ST Yagor
(3) ek famel o1 faefea e

(4) WrHIfSTeR Sgerre 1 Ufcie el

Options:
1.1
2.2
3.3



4.4

Question Number : 47 Question Id : 53307217170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

k-l il cireh-famel § 1 Frrere § 2

(1) 399 T aarn (Farg) o wesfer I &1 g5 o ¢
2) 7 foaarl &R gedi st sfverfs ot wfaefia a2

3)  TUY Hge YRYNE Yol 1 Hagd ol ¢ |

4) Y TR T9E 1 fae 2 2

Options:
1.1
2.2
3.3
4.4

(
(
(

Question Number : 48 Question Id : 53307217171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TSN o ST @k TRONa SR Hes Te TSR g el § 7
(1) @ik W foeqa &1 & &)

(2) ST WA ROUel R HE 39 T T

(3) T FOaEY hec HHY 39 il € SR FIe TE e €

(4) THF FerEey qrfee Ued i wied @ W €

Lad

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307217172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e &5 § Sl & 391 Yqre S § Su g ?
(1) W<¥ERT SR E&TeRl 1 ag-&aid Afasf=ai

(2) feer e
(3) nfefeR SR SmifTer fomml o1 S
(4) HH 3G SHER

Options :

1.1

2.2

3.3

4.4

Question Number : 50 Question Id : 53307217173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

rersleh T
(1) are-faar 3R ==l % TR S SAT9F T4 ¢ |

(2) TEH YLUT AH-YOMGH Bl U i Sl & |

(3) TEH JAfadeh Tk I S{YaTeha iy o feoan S 2

(4) TTF IROTHEREY AETE Hodl i g0 el © |
Options :
1.1
2.2
3.3
4.4

Political Science

Section Id : 533072226
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 533072674



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307217174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Human Rights are also criticised for :

(1) Elevating collectivism above individualism
(2)

(3) Elevating individualism above collectivism

(4) Opposing collectivism as well as individualism

Equating collectivism and individualism

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 53307217174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HHS AR I A= 1 BRI
(1) wAfER R Gmfedaas & Ifems 7 o

) AMfedRdrETs SR SAfaErs T TAE e ol
(3) wHfewaEe W AfFars F AfE T

) EHfEshATEg o HIY-HY Sfaiarg & ol

Options:
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307217175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Third Wave of Feminism reflected the influence of :

(1) Post-Structuralism

(2) Anarchism
(3) Liberalism
(4) Multiculturalism

Options :



1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307217175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARTaTE 1 i el A fohgsh gura &1 gfafefeg faean ?
(1) SH-H=AER

(2) SHISTERAES
(3) SERER
(4) FREEER
Options :

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 53307217176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Cosmopolitans argue that citizenship should extend to the :

(1) Country in which an individual resides

(2) People based upon where a person is born

(3) World as a whole

(4) Persons accepted by Governments based on laws and rules

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307217176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



forgeranfel (SFrerdifcien) % Tk 3 STTAR Aer 1 fowan el 7 e =fen ?
(1) =<y, fod st fHamg & |

(2) e A ol o fern €, 39 W s @

(3) Tl forge o w9 H

(4) ST R i W S S R wied fen o st
Options :

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 53307217177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What do political parties, pressure groups, public opinion, popular movements have in common ?
They are :

(I) Formal organisations of power

(2) Informal organisations of power

(3) Helping the governments of the day in governance

(4)  Existing only in democracies

Options:
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307217177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST etl, GaTd HHel, SHHG IR Trehiyd sfiaier § 31 9T @ 7
(1) e & SHII=1ies e

(2) wfdk & SHIYETRER HTe
(3) o H ITET T L& GRRT Sl Ger w
(4) Fee] ereRad feormH

Options :

1.1

2.2



3.3
4.4

Question Number : 55 Question Id : 53307217178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following political philosophers in the chronological order :
(A) Karl Popper

(B) John Rawls

(C) C.B. Macpherson

(D) Robert Dahl

(E) Herbert Marcuse

Choose the correct answer from the options given below :

(1) (A), (B), ©, D) (B

) (©), (E), (A), (D), (B)
(3)  (E), () (A), (D), (B)
(4) (D), (B), (A), (C), (E)
Options :

1.1

2.2

3.3

4.4

— —

—
)
-

Question Number : 55 Question Id : 53307217178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frAfefaa TsHITah aRifeR] 1 FHITHAHER HT ;
(A) I 9

(B) A Tew

(C) dra. HEwdd

(D) ez T

(E) o2 ARSI

(1) (A, (B), (©), (D), (E)

(2) (C {E) (A), (D), (B)
3) (©), (A), (D), (B)
(4) {D) (B), (A), (©), (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307217179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are cortect regarding conservatism ?

(A) Conservatism postulates collective leadership, promotes treaties to achieve peace and order

(B) Sympathises with free-market ideology, greater emphasis on nationalism and the authority
of the state

(C) A disposition or an ‘attitude of mind’ placing their faith in pragmatism, tradition and history

(D) Providesa model for change, improves freedom of thought and take steps to improve happiness
of masses

(E) Conservatives believe in equality and they work towards reducing various kinds of inequalities

Choose the correct answer from the options given below :

(1)  (B) and (C) Only

(2) (A), (B)and (D) Only

B (A) () and () Orly

(4) (C) and (D) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 56 Question Id : 53307217179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



faeifef © § # F SERT (Fawaean) o Heb # 6 €

(A) SFTRRaE HTWfed e e 2 & Wi SR 7o a1 Wi o fore el 1 Wewfed ot €|

(B)  {eRT TSR & foraRe o o T fo T &, TG iR T4 %1 &l R Ge e <l 3|

(C) W Taf A sfvaf < e, T &t s § o e T € |

(D) et 1 T Hiee Tem ¢, Tor ot @ B QT el § S S b T o o few
F%H M ¢ |

F)  SQmre) SHIHa H foers %0 € i 3 SRwTael & fafe T § ol o o e ® o
&l

e few o fomredl 7 O W SO T Fi
(1) A (B) 4 (C)

(2) o (), (B) 3 (D)

(3) A (A), (B) ¥ (E)

(4) A (C) 4 (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 57 Question Id : 53307217180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Deliberative Democracy Champions :
(A) Informal debate

(B) Direct participation of citizens
(C) Public use of reason

(D) Impartial pursuit of truth

(E) Monism as well as Dualism
Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only

(2) (B) and (C) Only

() (A), (C) and (D) Only

(4) (A), (D) and (E) Only

Options :
1.1



2.2
3.3
4.4

Question Number : 57 Question Id : 53307217180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fermeff wreret forgent qaIgTooT e & 2
(A) SHAMIANGE 989

(B) FMIfa! &l WeAet YRTeR

(C) Tk o1 Gresier 39T

(D) T % T &I I G

(E) SIgaaE F WY-T1Y gadr
= fou o foskredi § € W& SR #1999 Fifa
(1) = (A), (B) 2R (E)

(2) A (B) R (C)

(3) o (A), (C) ¥R (D)

(4) FaA (A), (D) 3R (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 58 Question Id : 53307217181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - I List - II

(A) Government requires a special elite (I)  Liberalism

(B) Majority of the population are incapable of (II) Marxism
effective self-government

(C) Political democracy ignores the lack of (III) Feminism
democracy in economic relations

(D) Democratic systems reflect gender divisions (IV) Conservatism
in society

Choose the correct answer from the options given below :

(1) (A)-(I), (B}-(HI), (C(L), (D)-(IV)

(2)  (A)-1D), (B)-(1), (O)-(1V), (D))
(3)  (AHLV), (B)-(I), (C)-(II), (D)-(11)
(4) (A, B)ID), (©)-(D), (D)-[V)
Options :

1.1

2.2

3.3

4.4

Question Number : 58 Question Id : 53307217181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tet-1 9 Gell-11 1 Aer shife
-1 Tdt-11

(A) aER & for ws o sifvera o savass € () AR
(B) ST % SEHA TGN W-GhR & o swem €1 (1) e

(C) TSI cierds afde Gael § oifehos 1 S (1) Aae
I JUE HAT €|

(D) it FonferT T ¥ Swet fasmsH i (IV) SFERETR
yfefafad st €|

19 fou U fasredl © @ U@ I H =9 Ffw:

(1) (AHD), BRI, (O, (D)-IV)

(2) (A, (B)-(1), (OHIV), (D)
(3)  (A-IV), (B)-(D), (C)-(L), (D)-(I1)
(4) (A, (B)-(1D), (©)-(1), (D)-(IV)

Options :

1.1

2.2

3.3

4.4

Question Number : 59 Question Id : 53307217182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) Socialism (I) E.F. Schumacher
(B) Feminism (I) Charles Taylor
(C) Ecologism (ITII) Thomas Piketty
(D) Multiculturalism (IV) Bell Hooks

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(II), (C)-(1I), (D)-(IV)
(2) (A1), (B)-(I), (O)-(), (D)-(IV)
(3)  (A)(IV), (B)-(IL), (C)~(T), (D)-(IT)
(4) (A)-(IO), (B)~(IV), (O)-(1), (D)-(1)

Options :
1.1



2.2
3.3
4.4

Question Number : 59 Question Id : 53307217182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tet-1 § g1 % e wifs .

Teii-1 TEt-11
(A) HHER O EUF TR
(B) HHiemg (II) <=MH ol
(C) wffeerfaeriang (II1) o9 faet
(D) wEHEHfTAR (V) = g

=1 feu 7o foesredi § 9 WE 39 F T4 Hifor;
(1) (A)-(1), (B)-(II), (C)-(1I), (D)-(IV)
(2) A1, (B)-(I), (O)~(IL), (D)-(IV)
(3)  (A)-(IV), (B)-(I1I), (C)-(1), (D)-(IL)
(4) (A)-(I), (B)-(IV), (O)~(I), (D)-(IT)

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307217183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who observed that intellectuals “are the dominant groups ‘deputies’ exercising the subaltern
functions of social hegemony and political government” ?

(I) Mao Zedong

(2) Antonio Gramsci
(3) Karl Marx
(

4) Frantz Fanon

Options :
1.1
2.2
3.3



4.4

Question Number : 60 Question Id : 53307217183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

for ) o foF fgeiel voe A R € S Sl e oR oo W F ot
FFA G

(1) eI

@ @ﬁaﬂwﬁ
(3)

(4) % EH
Options :
1.1

2.2

3.3

4.4

1

Question Number : 61 Question Id : 53307217184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A thinker of anti-colonial struggle and revolutionary action :

(1) Karl Marx

(2) A. Gramsci

(3) Hannah Arendt
(4) Frantz Fanon
Options:

1.1

2.2

3.3

4.4

Question Number : 61 Question Id : 53307217184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



JufEvTEE-faisd e ofR wifaewrt wHRer foams frfafes § 9 $9 €2
(1) el W

) T
(3) B A=
4) W
Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 53307217185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hannah Arendt analyses the Vita activa via three categories which corresponds to the three
fundamental activities of our being in the world.

(1) Capital, job and pleasure

2

3
4

(2) Desire, fulfilment and violence
(3) Labour, work and action

(4)  Freedom, suffering and rights
Options:

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 53307217185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T S ot A 40 o WA ol e Tt o , S0 fovel W g aHfea oA
eI Tt o WY W B ¢ 7

(1) TS0, T (Sa) 3R qE

2) v, v &R fem

3) AW, FT SRR

4) T WY AR SR

Options :

1.1

(
(
(



2.2
3.3
4.4

Question Number : 63 Question Id : 53307217186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Application of the laws of dialectics in social life is demonstrated through the principle of :
(1)  Social materialism

(2)

(3) Historical materialism
(4)

Options :

1.1

2.2

3.3

4.4

Economic materialism

Cultural materialism

Question Number : 63 Question Id : 53307217186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e i o WreAm § W So H Gl Tl o () @ STTAn Yervd ford i & 7
R EERGE I

(2) enfefes siffar
(3) e sffeere
(4)  iEfah sffer
Options :

1.1

2.2

3.3

4.4

Question Number : 64 Question Id : 53307217187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange John Rawls writings in chronological order which indicates his evolution as a philosopher
of eminence ?

(A) Political Liberalism

(B) A Theory of Justice

(C)  Justice as Fairness

(D) The Law of Peoples

Choose the correct answer from the options given below :

U © (@) ®) D)

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307217187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A T 9 T ) AT, STaTE I, 1 376 W S i o 9§ 3¢ w0t o €|
(A) ifctteere femfer

(B) T i ey

(C) ey T S

(D) 3 & Hyew

1 fou T forfedl o 4 TR S 1 T I

@ (©), (A) ®) D)

2) (D) (B), (C), (&)
3) () (B), (A) (D)
4 (8), (D) ) (&)

(
(
(

Options:
1.1
2.2
3.3
4.4



Question Number : 65 Question Id : 53307217188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - II
(A) People who should rule are those who know about politics () ~ Mary Wollstonecraft
(B) The achievement of freedom through the abolition of (I) John Rawls
exploitation and oppression
(C) The Principle of equal basic liberties (IT) Aristotle

(D) [Freedom, rights and citizenship of women as well as of men (IV) Karl Marx

Choose the correct answer from the options given below :

(1) (AHI), -, €D, OHLV)

(2)  (A){I), B)I), (CH(M), (D}-V)
(3) (A){, (B)-(D), (C}-V), (D))
(4)  (AHII), (BHIV), (CHID, (D))
Options:

1.1

2.2

3.3

4.4

Question Number : 65 Question Id : 53307217188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl § g1 1 fem s
Tl -1
(A) VA T dlct o T 8N WY, A TG FANA TG
(B) VIVI 3R T % I F WEAW § TN I A | (Il) i Tew
(C) 9 T el 1 g {
(D) ieesll & W-TY To0 i @, S o T (
el fou T fosedl W 4 WE S A T B
(1) (A, (B)-(ID), ©-(1), (D}-(IV)

@) (A, ), (-, (O)-1V)
() (MM, B-UD, ©-1V), (D)
(@) (A, (BHIV), (©A1), (D)

Options :
1.1



2.2
3.3
4.4

Question Number : 66 Question Id : 53307217189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.
List -1 List - II

(A) The will is free when its ends are “its own, (I)  GW.F. Hegal
so that it is self determining

(B) Itis the consent, and not the need which (I) JJ. Rousseau
makes the government legitimate

(C) “Virtue’ is indispensable to the citizen and state  (II[) Machiavelli

(D) Man naturally good in the moral sense (IV) John Locke

Choose the correct answer from the options given below :

(1) (A, B, (O, (D}1V)

(2 (AHD), BHIV), €I, D))

() (1), (B0, (CH(I), (D)-IV)

() (AHIV), B)(D), (©-(I), (D))

Options :

1.1

2.2

3.3

4.4

(A
(A)-
(A)-

Question Number : 66 Question Id : 53307217189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tll-1 § G111 e it
Tl-1 TE=-11

(A) 0179 W07 21l &, 5 S9F WA W oW () .S U v
0 %, Tufere 78 - i 2
(B) T& HAETAHAl Tel, dfceh Wewid o, S WER () WS T
& A% A € |
(C) ‘=g’ T iR U % fow sfed &1 (1) dfeamaet
(D) =Hfa Hfce 319 it gfte T arse1 S B (IV) ¥ @
ﬁ%ﬁnwﬁwﬁﬁﬁ?@mmwﬁmz
(1) (A1), B)-(ID, (©)-(1), (D)-(1V)
2 (A, { -(IV), (C)-(I), (D)-(IT)
(3)  (A)-(II), (B)(I), (CR(II), (D)-(IV)
4)  (A)-(IV), (B)-(D), (C}(I), (D)«IH)
Options :
1.1
2.2

3.3
4.4

Question Number : 67 Question Id : 53307217190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Chronologically arrange the classical works of western political philosophers.

(A) A Vindication of Rights of Women with strictures on Moral and Political Subjects
(B) The Social Contract

(C) Elements of Philosophy of Right

(D) On Liberty

(E) The Economic and Philosophical Manuscripts

Choose the correct answer from the Dptinns given below :

(1) (A (©), B) E), D)
) (A) (@) ) (©) E

B B) (4), ) E), D)
(4) ©)(©) (a), D) B

Options :
1.1



2.2
3.3
4.4

Question Number : 67 Question Id : 53307217190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uit et SRifeR 1 JRachi ohi FTARAER SAafedd Hifa ;

(A) ‘1 feifeham &t T52q &iw gi fog fgead A At U2 difafresa oo’

(B) ‘3 FF’

(C) ‘e & freird Aiw e’

(D) ‘& feeel’

(B) ‘< EHMIS US e Hfere’

e e o foed § 9 e SR H T FHoC;

(1) (A), (©), B), E), D)
(

Question Number : 68 Question Id : 53307217191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Key elements of Machiavelli include :

(A) Classification of political regimes

(B) Critique of classical philosophical ideas

(C) Criticism of Liberty

(D) Ideas on Republicanism

(E) Analysing power

Choose the correct answer from the options given below :
(1) (A), (O and (E) Only

(2)  (A), (D) and (E) Only
(3) (B), (C) and (D) Only
(4) (B), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 53307217191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Afkarael & Y@ dei | IHe ©

(A) TSI SIE JOITet =R SRt

(B) WRUINTd SR o Ta=ml ol STTeTe
(C) TGl I Selr=Hl

(D) TIUGEETE o 9 H fa=Er

(E) iRt o1 fargesor st

= feu 7o foeredi § | W& SO &1 =44 Fife
(1) = (A), (C) 3R (E)

(2) %9 (A), (D) ¥R (B)
(3) ad (B), (C) ¥R (D)
(4) % (B), (D) 3 (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 69 Question Id : 53307217192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(A) Vedvyasa (I)  Political Guru of Gandhi
(B) Kautilya (I) Mahabharat
(C) Raja Ram Mohan Roy (IlT) Saptang

(D) Gopal Krishna Gokhale (IV) Pioneer of Indian Renaissance

Choose the correct answer from the nptiuns given below :

(D) (A)-(D, (B)-L), ©O)-IV), (D)-[0)
(2 (A)-), (B)-(11), (©)-(1), (D)-(IV)
(3) (A0, B)-(1), (O-(Im), (D)-(1V)
4 (A)-(D), (BRI, (CO)-(I), (D)-(IV)
Options :

1.1

2.2

3.3

4.4

Question Number : 69 Question Id : 53307217192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 § ge=i-11 = fHer shif
-1 HEt-11
(A) EZH () T &% TSHIfaE T8
(B) hifeceH (I) HErId
(C) TSI TR T (I1) ET
(D) T FHo0 g (IV) R YATROT & Jorel

i< feu o faedi § 9 W& 39 F1 =94 Fif:
(1)  (A)-(IT), (B)-(I1D), (C)-(IV), (D)-(I)
(2) (A1), (B)~(1D), (O)-(1), (D)-(IV)

(3)  (A)-D), (B)-(), (O)-(), (D)-(IV)
(4)  (A)-(D), (B)}-(IT), (C)-(1), (D)-(IV)

Options :



1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307217193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ambedkar was a multifaceted personality. Which of the facts and opinion are true ?

(A) Ambedkar defined social justice as a means for giving equal opportunity to all

(B) Jyotiba Phule was his ideal

(C) He was the first Attorney General of India

(D) He contested election

(E) He was PhD in Economics

Choose the correct answer from the Dptinns given below :

() (A) B), ) D) (E)
() (A), (B), (D), (E) Only
() (B), (C), (D), (E) Only
(4)  (A), (B) (C), (E) Only
Options:

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 53307217193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(B) e el 3 o &
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i fou T fowedl H 4 & S A T4 HfoC;
(1) (&), (), (©), D) ()

() ¥ (A), (8) (D) (B
) ¥ (), () (D) ©)
(4) % (A), (8) ) ©)
Options :

1.1

2.2

3.3
4.4

Question Number : 71 Question Id : 53307217194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who had organised the Abhinava Bharat , a Secret Society of Revolution ?
(1) Bal Gangadhar Tilak

(2) V.D. Savarkar

(3) Aurobindo Ghosh

(4) Prafulla Chaki

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307217194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



foRer shifaeRTfedl =1 Wek T WIETHel — SAfYAa YRa-Gfed ohi off ?
(1) =Tt TmeR faets

(2) @LEM. "ERE

(3) sfa<] =

(4) TFee TRl

Options :

1.1

2.2

3.3
4.4

)
)

Question Number : 72 Question Id : 53307217195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who pmpmmded the concept of ‘Total Revolution” ?
(1) J. L. Nehru

(2) Aurobindo Ghosh

(3) Jaya Prakash Narayan
(4) Bal Gangadhar Tilak
Options:

1.1

2.2

3.3

4.4

Question Number : 72 Question Id : 53307217195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e wrgot shifa’ ki sTavRoT k1 Afaare feram on?

(1) Shua. J8®
(2) sfer=t =Y
(3) SR AR
(4) ®e TR foereR
Options :
1.1
2.2

3.3



4.4

Question Number : 73 Question Id : 53307217196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who wrote “Hindu Theory of International Relations” ?
(1) Swami Vivekanand

(2) William Jones

(3) Benoy Kumar Sarkar
(4) Aurobindo Ghosh
Options :

1.1

2.2

3.3

4.4

Question Number : 73 Question Id : 53307217196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

#11 ''feg AWl 31T% e frowi| = oEs o9 ?
(1) @ faawHe

(2) fafermm St

3) T FHR 9N

(4) eRfe=<) =y

Options:

1.1

2.2

3.3
4.4

—

Question Number : 74 Question Id : 53307217197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has given the concept of Integral Humanism ?
(1) Pandit Deendayal Upadhyay

(2) Swami Vivekanand

(3) Awurobindo Ghosh

(4)

Rabindranath Tagm‘e

Options :



1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307217197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFg THTTH HIEAE 1 SR foewiad i i ?
(1) vfed SHeaE ST

(2) @l faawHg

(3) arfa< =

(4) =AY SR

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307217198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who founded the All India Harijan Sangh ?
(1) Narayan Guru

(2) M.Gandhi

(3) Jyotiba Phule

(4) Aurobindo Ghosh

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307217198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



foroa arfaa ard efem 99 =t geenfaa fear oan 2
(1) AREITTE

) UH, T

(3) HrfdsT Hel

) FRfa=l =Y

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307217199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who had envisioned the evolution of human life into a divine life in a divine body ?
(1) M.N.Roy

(2) Ram Manohar Lohia

(3) Deen Dayal Upadhayay

(4) Aurobindo Ghosh

Options:
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307217199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
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3.3
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(
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4.4

Question Number : 77 Question Id : 53307217200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Indian National Movement had many streams. One of them was Extremist From the following
identify which is correct.

(A) Bal Gangadhar Tilak

(B) Lala Lajpat Rai

(C) Bipin Chandra Pal

(D) Gopal Krishna Gokhale

(E) Dada Bhai Naoroji

Choose the correct answer from the options given below :
(1) (A) () (C) Only

) (), ), (0, 0) 6

) (A), (8),(C) () Only

@ |
3 |
(@) (8), (C), (D) (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 53307217200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307217201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has given the concept of “Iron law of O]_igarch}f" ?
(1) James Burnham

(2) Raymond Aron
(3) Karl Mannheim
(4) Robert Michels
Options:

1.1

2.2

3.3

4.4

Question Number : 78 Question Id : 53307217201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g e o 37TF TR’ SRt STeIRon & of ?

(1) S &+
2) e
(3) A HersH
(4) & fHored
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307217202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has pmpﬂunded the concept of “Power Elite” ?
(1) James Burnham

(2) C. Wright Mills
(3) Raymond Aron
(4) Karl Mannheim
Options:

1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 53307217202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fe ufere! (e el sfirsa ant) o1 sraamon yfqafed =i & ?
(1) g T¥ed

(2) i Tze fyey
(3) W
(4) T HTerRy
Options :
1.1
2.2

3.3



4.4

Question Number : 80 Question Id : 53307217203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has given the concept of “Managerial Revolution” ?
(1) James Burnham

(2) C. Wright Mills

(3) Robert Michels

(4) Karl Mannheim

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307217203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forem geieehTa hifa =1 sTasmon & off ?
(1) < & eH

(2) Ht e faew
(3) a2 ooy
(4) T H-TeTeH

Options:

1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 53307217204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has given the concept of “Political Decay” ?
(1) Lucian W. Pye

(2) Samuel P. Huntington

(3) Sidney Verba

(4) Almond and Powell

Options :



1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307217204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forg ' Terifass g’ (difafesa fek) =1 sraumo < <ff ?

(1) g s=g, 98
(2) EHS b, sfémed
(3) fae gei
(4) FEHIE AR dfd
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307217205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement is not correct about Constitutionalism ?
(1) Totalitarian Government

(2) Responsible Government
(3) Limited Government
(4) Constitutional Monarchy
Options :

1.1

2.2

3.3

4.4

Question Number : 82 Question Id : 53307217205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafes o 9 %9 @ FF Gfaurere F o) § 98 T8 &2
(1) TeTHHRER] TR

(2) SHEHE HHR
(3) HIfHT HFER
(4) FAYTTF TeTaA

Options :

1.1

2.2

3.3

4.4

Question Number : 83 Question Id : 53307217206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Different countries have different kinds of Political Party System. Identify the right answer from
the given options.
(A) China is a Communist country, therefore it has single party system

B

) India enjoys multi party system
C) Britain has two party system
)

(
(
(D) Japan enjoys two party system

(E) South Africa has single party system

Choose the correct answer from the options given below :
) (A)6)© 0

@) () (8) (0 Only

() (), ©), ©) (E) Only

(4 (©), ) (E) Only

Options:
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307217206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(B) TR ¥ Wg-geitd JOTeH ¢

(C) fore ¥ fy-geita yored 2|
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e feu T ferredl W § W SR T i

(1) (@A) ®) © O E

Q) @ (A), (B) (C)
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Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307217207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A) Labour Party (I)  Bangladesh
(B) Republican Party (I)  Algeria
(C) The Islamic Salvation Front (III) Britain
(D) Awami League (IV) America

Choose the correct answer from the Dpl‘inns given below :

(1) (A, (B)-(1V), (O)-(I), (D)-(IT)

(2 (A0, (B)-(II), (O)-(I), (D)-(IV)
(3) (A1), (B)-(111), (©)-(IV), (D)-()
(4)  (A)-(II), (B)-(IV), (C)-(11), (D)-(I)
Options :

1.1

2.2

3.3



4.4

Question Number : 84 Question Id : 53307217207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 frer shifs .

-1 -1
(A) <& T () <R
(B) Tufeerera w2l (I)  STesHean
(C) T TEAMHE Feiay He (1) fared
(D)  STTETHT S (IV) 3THRT

= feu Tu foekedi § 9 W& ITT H =97 HifIC;
() (A, (B)-(1V), (O-(D), (D)-(IT)

(2) (AL, (B)-(L), (O)(I), (D)-(IV)

(3) (A1), (B)-(II), (C)~(IV), (D)-(D)

(4) (A, (B)-(1V), (O)(1D), (D)-(D)
Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 53307217208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following statement related to CBDR (Common But Differentiated Responsibilities)
is not correct :

(I) Itis an important global environmental norms developed by the international community
(2) It favours Developing Countries

(3) It grants certain trade concessions to Developing Countries

(4)  Developed Countries are opposed to it

Options:
1.1
2.2
3.3
4.4



Question Number : 85 Question Id : 53307217208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1.4 €1 e (A fabg fadifen soeafae) & deftm @9 o1 F o 98 78 82
(1) € FREE qeE ga fosfaa v weayy dfves m@iewia a9 2|

(2) T forprasiier <91 1 TR Al B

(3) %@ forsprasticr <9Il <1 HdT9 =TI G2l 1 STHG Wl & |
(4) TorsRfea <0 s8R Tt €1

Options :

1.1

2.2

3.3

4.4

Question Number : 86 Question Id : 53307217209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following International Relations Thinkers in the chronological order :
(A) Kenneth Waltz

(B) Hans Morgenthan

(C) Thucydides

(D) Alexander Wendt

(E) EH. Carr

Choose the correct answer from the options given below :

(1) ©:(A), (B), D) (E)
(2) (©) (E), (A), (B), (D)
) (©) (E), (B), (A), D)
4 Q. (A), E), (B), D)
Options:

1.1

2.2

3.3
4.4

Question Number : 86 Question Id : 53307217209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AU HaY & ffafaa fo=rel #l FerTTaR e HIf
A) Y TS
B) &H Wi

(
(
(C) yeiters
(
(

D) Tciaiet dvge
E) 304 $1
T fou 70 faeredi § 9 WE ST F 9499 FHifod:

(1) ©), (4), (B), (D), (E)
() (©) (E) (A), (B), (D

)
3)  (©), (E) (B) (A), (D)
4) (©). (A), (E), (B), (D)
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307217210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the f-:lllnwing mternational events in ascendj_ng order :
(A) Demise of Communism in East Europe

(B) Unification of Germany

(C) Disintegration of Soviet Union

(D) Assumption of Presidency by Mikhail Gorbachev
(E) INF Treaty

Choose the correct answer from the options given below :
(1) (©), (D), (B), (A), (E)

(2) (D) (E), (B), (A), (C)

(3) (D) (B) (A) (B) (O)

(4) (D), (B), (O), (A), (B)

Options :
1.1
2.2
3.3
4.4



Question Number : 87 Question Id : 53307217210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefafaa gemeti &t aIEl 9 § syafyd Fifa
(A) T F9 H Ergars o 9a4

(B) ST T TehTehI™

(C) wiferga &= =1 farres

(D) foEmss Mat=a g T2ufd 98 W 2% e
(E) 9R.TAUE, §fY

=1 feu 7o fasredi § 9 WE 39T F T99 Hifor;
() (©), (D) (B), (A), (E)

(2) (D) (E), (B), (A). (©)

(3) (D) (E), (A), (B), (C)

4) (D) (B), (©), (A), (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 88 Question Id : 53307217211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al'range chrnnnlngica]ly the fn]lnwing International Orgrmisatinns ;

(A) World Trade Organisations (WTO)

(B) North Atlantic Treaty Organisation (NATO)

(C) International Monetary Fund (IMF)

(D) G-20

(E) South Asian Association for Regional Cooperation (SAARC)

Choose the correct answer from the Dptinns given below :

(1) (©), (B). (A), (B), (D)

(2)  (©), (B), (B), (A), (D)
3)  (B), (O) (E), (A), (D)
4 (©), (B), (D), (A), (E)
Options :

1.1



2.2
3.3
4.4

Question Number : 88 Question Id : 53307217211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa siaiea e & FeRATER safeT Hifa
(A) fova =R Geq (gseg, 2. )

(B) TR Feeifesk Wiy Eed (AR

(C) SAaegA HeT iy (37E.UH.UF)

(D) S-20

(B) =famr ufyme &5 gean 9ed (Heh)
= feu o faskedl § 9 WE UL 1 =9 Hifo;
(1) (©), (B) (A), (E), (D)

2 (©), (B), (E), (A), (D)

(3) (B), (O) (E), (A), (D)

4) (©), (B), (D), (A), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 89 Question Id : 53307217212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are associated with the theory of International Realism ?
(A) Domestic politics is characterised by hierarchy and international politics by anarchy
(B) Power is both means and end

(C) Believes in relative gain rather than absolute gain

{
(

D
E) Likeall politics, international politics is the struggle for power

Anarchy is what states make of it

Choose the correct answer from the options given below :
1) (A), (8),(C), (D) and (B

@ (A),®) (O and (D) Only
6) (A),(B)and (O) Only
@) (A), B) (C) and (E) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307217212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frererfed § 9 $F § F9F SR gadaR % fFgh @ dag T 8

(A) ¥ TEHIT TS TYHR SR SR Toiia sRIeewal 9 G 2 ¢ |
(B) Ife, WA SR WA Al B

(C) ol Wit (weHeRe ) o e e Wt (fetfea ) H fovarg e ¢
(D) ISR Tl & SH1 T e & |

() Hft ToFIfd 1 e AR Torra e & forw wod €1

A= feu o fomred & 9 WE SR 99 FfC

1) (A), (), (C) (D) 3 ()

2) %4 (A), (B), (C) 3 (D)

3) @ (A), (B) ¥R (C)

4) % (A), (B), (C) 3 (B)

Options :

1.1

2.2
3.3

(
(
(
(



4.4

Question Number : 90 Question Id : 53307217213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are variants of International Liberalism ?
(A) Complex Interdependence

(B) Institutional Liberalism

(C) Republican/Democratic Liberalism

(D) Neoliberalism

(E) Classical Liberalism

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) and (E)

(2)  (A), (B), (C) and (D) Only
(3) (A), (B) and (C) Only
(4) (), (O), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 53307217213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § § 99 siaiea 3eraR & TR (aftdzy) €7
(A) Sifeat TregE-fAsiTa

(B) WA SRS

(C)  TTOTdsi/ Arehdi Ak SeNes

(D) ¥a-3CRETG

(E) 9ITEld 3ERER

i< feu T foeredi # | Wel ST} 1 99 Hifeld ;
(1) (A), (B), (C), (D) ¥R (E)

(2) = (A), (B), (C) ¥R (D)

(3) F (A), (B) SR (O)

(4) FFE (B), (O), (D) 3 ()



Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307217214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct statements given below :

(A) NATO is a security pact created for the defence of US led Western Countries
(B) Warsaw pact was created by Soviet Union and its allies in response to NATO
(C) SAARC was created for the security of South Asia

(D) ASEAN is a Security Organisation

(E) European Union was created for the security of Europe

Choose the correct answer from the options given below :

(1) (A)and (B) Only

) (A), (B)and (C) Only

®) (), () (O and (D) Only

(4) (O, (D) and (E) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307217214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frreferfign W ¥ 91 o 9

(A) T3 o e eien ¢, foreen famion 3,0, e e i <40 & o e & fren e
(B) e HEI a1 Il Wfera 9 i 3 it < g0 ) o g fom e

(C) e o1 Fwion <feqn wfvran o1 e o feru feran v e

(D) ST T e e B

(E) 70T 59 1 T 0 o e o fer o e

A feu T foredl o ¥ @ S A T FIC

(1) o (A) 4R (B)
(2) e (A), (B) 4R (O
() ¥ (4), (B) () ¥R )
(4) o (C), (D) & (B

)
)

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307217215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Peaceful rise of China is a myth rather than a reality.

(A) China’s nibbling of neighbours territory through “Slami Slicing” strategy is against its claim
of peaceful rise

(B) China's massive aid to Asian and African Countries undermines its claim to peaceful rise

(C) China’s support to non-democratic and authoritarian countries violates its claim to peaceful
rise

(D) China's assertion of 9 dash-lines is against its claim of peaceful rise

(E) China's pursuit of “Wolf-Warrior Diplomacy” contradicts its claim to peaceful rise

Choose the correct answer from the options given below :

(1) (4) () (C)and (B Only

(2) (A),(C), (D) and (E) Only

B (A) (D) and E) Only

(4) (A)and (B) Only

Options :
1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 53307217215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 Wiyl e O foerd €, 7 i o |
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(B) ST A SRR ST 1 A 1 v ST e Wifoq e % 3@ % o ¢ |
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e few o feeredt # 4 W8 SR T F0

(1) %A (A), (B) (C) ¥ (E)

) %4 (A),(0) (D) &R (£)

) 9 (A), (D) 4R (E)

) (A) R (B

Options :

1.1

2.2

3.3
4.4

(
(
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Question Number : 93 Question Id : 53307217216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



United States of America is still the “Sole Super Power” of the world.
A) Best and brightest of the world prefer to migrate to America

(
(B) American dream is still intact

(C) USA is the most indebted country of the world

(D) Global surplus capital gets accumulated in the USA

(E) USAstill is the Global leader in the development of new innovative technology
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A), (B), (C) and (D) Only

() (&), (B) (D) and (E) Only

(4) (A) (), (C), (D) and (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 93 Question Id : 53307217216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T T SRR anedt off fava % uem Temfad B

(A) Tava & wafem qon Heifess o STafen Jarg S we T ¢ |
(B) el Te St off reqow €

(C) 7 TH U faw =1 waifr FHomr 39 €1

(D) FwE.T ¥ fava &7 e qef Fafaw €|

() J TE U T TayacTet Grenfrert # fava § apmof e €

= fou o foeredi § | WE SO o T9H Fife

(1) ad (A), (B) 3R (C)
(2) 9 (A), (B), (O) ¥R (D)
(3) I (A), (B), (D) ¥R (E)
(4) (A), (B), (O), (D) ¥R (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 94 Question Id : 53307217217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(A) Heartland Theory () A.T. Mahan
(B) Rimland Theory (I) Halford Mackinder

(C) Sea Power Theory (IIT) Alexander Seversky
(D) Air Power Theory (IV) Nicholas Spykman

Choose the correct answer from the Dpl‘inns given below :

(1) (A, (B)-(1V), (O-(1), (D)-(I1)

(2)  (AHIV), (B)-(1L), (CO)-(I), (D)-(IL)
(3)  (A)(ID), (B)-(IV), (O)-(11), (D)-(1)
(4)  (A)-(D), (B)-(IT), (O)-(IV), (D)-(1L)
Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 53307217217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs
Ti-1 Tt
(A) @EHE fasma @O T "EH
(B) forele fagia (II) Tewe Hi-et

(C) wHgET vifed Tagia (IlI) SISt HoTEhTg
(D) ®ar wife fagia (1v) e wEEi
9 feu 7o fowed § 9 9& 9T 1 999 Fifad:

(1) (A)-(1D), (B)-(IV), (O)-(I), (D)-(1I)

(2)  (A)AIV), (B)(1D), (O)-(I), (D)-(III)

(3) (A1), (B)-(IV), (O)-(), (D)-(I)

@) (A1), (B)-(IN), (O(IV), (D)~(I1)

Options :



1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307217218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) Inside Out Approach (I) Realism
(B) Outside In Approach (II) Liberalism

(C) Theory of Relative Gain (IlI) Structural Realism
(D) Theory of Absolute Gain  (IV) Classical Realism
Choose the correct answer from the options given below :
(1) (A1), (B)-(1), (O)-(IL), (D)-(IV)

(2)  (A)-(1V), (B)-(IIL), (O)-(11), (D)-(I)

(3)  (AHIV), (B)-(IL), (O~(D), (D)-(1I)

(4) (A, (B)-(1V), (O)-(I), (D)-(ILI)

Options:
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307217218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

Tl-1 GE-11
(A) TTEEE B SINTH () Fedar
(B) <A3ZHEE T 3UMH (I) 3ERER
(C) Tyt enyy 1 fagia (III) TTEATHF JATeaTg
(D) ot =y =1 fagia (IV) ST genedare

<1 feu T faepedi § | Wer 39T & 99 i
(1 (A)-ID), (B)-(D), (O)-(I), (D)-(IV)

(2)  (A)HIV), (B)-(1L), (O)-(1D), (D)-(D)

(3)  (A)-(1V), (B)-(IIL), (CO)-(L), (D)-(I)

(4) (A, (B)-(1V), (O)(D), (D)-(IT)
Options :

1.1

2.2

3.3
4.4

Question Number : 96 Question Id : 53307217219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) World System Theory (I) Kenneth Waltz
(B) Social Constructivism (II)  John Mearsheimer
(C) Defensive Realism (IlI) Immanual Walterstein
(D) Offensive Realism (IV) Alexander Wendt

Choose the correct answer from the Dptinns given below :

(1) (A)HIV), (B)-(IIL), (O)-(I), (D)-(ID)

(2)  (A)-(IL), (B)-(IV), (C)=(I), (D)-(IT)
(3) (A, (B)-(1V), (O)(1D), (D)-(D)
(4)  (A)-(I), (B)-(L), (C)-(IV), (D)-(I)
Options :

1.1

2.2

3.3

4.4



Question Number : 96 Question Id : 53307217219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i

Teii-1 GeE-11
(A) Torva =azen fagia () Y TS
(B) WMHIfSiF THAEIE (I it faemdm
(C) T&TeHeR Fenedang (Ill) SHHUS S
(D) STk AL (IV) STasiel a2

= feu Tq faekedi § 9 W& 39T 1 TG HifI;
(1) (A)-(IV), (B)(IIL), (C)-(I), (D)-(IT)
(2) (A=), (B)-(IV), (O)-(1), (D)-(II)
(3)  (A)-(IL), (B)-(IV), (C)-(1D), (D)-(I)
4)  (A)-D), (B)-(I), (C)-(IV), (D)-(II)
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307217220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not correct about India’s Nuclear Policy ?
(1) Credible Minimum Nuclear Deterrence

(2) No first use

(3) In Post-Pokharan-II phase, India has agreed to sign NPT and CTBT
(

4) Homi ].Bhabha is the architect of India’s nuclear programme

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307217220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR ki ] A % an # e § § @S- w98 =/ 77

(1) forverra =gm ] fem

) WO FERTES

) SR-UrET-11 R0 H a2 a6 3 ol 2 W e e T ¢
4) B S I R o O] A F I € |

2

(2
(C
(

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307217221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events/incidents related to India-Pakistan Relations chronologically.
(A) Kargil War

(B) Shimla Agreement

(C) Pulwama Incident

(D) Indus Water Treaty

(E) Uri Incident

Choose the correct answer from the options given below :
(1) D) (), (©), (A), (E)

@ () ®) (), (A) (©)
() (), D) (A) () (©)
@ (D), (B) (A) () (©)

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307217221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



R W Fael o Fay § FeAfaed aoml/seel F1 HICwH SR ared Hifs ;
(A) T TS

el fou U foskedi # 9 T SR A 79 FC
() D) B) (), (A) )
@) (@) 6) (E) @A) ©
@) (B), (D), (A), (), (€
@) D) 6) (A) (E) ©
Options :

1.1

2.2

3.3

4.4

Question Number : 99 Question Id : 53307217222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events/incidents related to Sino-India relations chronologically.
A) Chinese [nvasion of India

(
(B) Wuhan Spirit

(C) Galwan Valley Incident
(D) Chennai Connect

(E) Nathu La Skirmishes

Choose the correct answet from the Dptitms given below :

() (A), (&), B), D) (©)

Options :
1.1
2.2
3.3
4.4



Question Number : 99 Question Id : 53307217222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-9 FaHli ok aR H feeAferiiad ol /seist ) FeshATER Haed i

(A) 9RA T FH 1 A
(B) Tem ST

(C) eI S I HeA
(D) = FR

(B) egen wend

< feu T foskedl § § Wet R H T4 FIC ;
(1) (A), (B), B), (D), ()
(2) () (A) (), D) (C)
3) (A),(E), D), (B) (©
(4) (A) (), ©) B) D)
Options :

1.1

2.2

3.3

4.4

Question Number : 100 Question Id : 53307217223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*’irrange the following events related to India’s Foreign Policy in ascending order.
(A) Indo-US Nuclear Deal
(B) Gujral Doctrine

(C) Panchasheel

(D) Panchamrit

(E) Look East Policy

Choose the correct answer from the options given below :

(1) (©), (E), (D), (A) (B)
%), (A (



2.2
3.3
4.4

Question Number : 100 Question Id : 53307217223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

aRa 1 faew ifa % Heig ¥ frafafas semsi #1 F1a FeHen S #if ;
(A)  WRA-3FHTER TCHTT] FHET

(B) T g
(C) Yt
(D) =g
E) T 3 TiferEt
1 fou v fosreai o | W& SR 1 999 Fif
(1) (©), (E), (D), (A), (B)
2)  (©), (E) (A), (B), (D)
(3) (E), (C), (B). (A), (D)
4) (©), (E), (B), (A), (D)
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307217224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Choose the correct statements from the following,
) India has signed RCEP (Regional Comprehensive Economic Partnership)

(A
(B) India has refused to sign NPT because it is a discriminatory treaty
(C) India has signed CTBT (Comprehensive Test Ban Treaty)

(D) India has signed PTBT (Partial Test Ban Treaty)

(E) India Supports CBDR (Common But Differentiated Responsibilities) in climate change

negotiations
Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only
(2) (A), (B) and (C) Only
(3) (B), (D) and (E) Only
(4) (A), (B)and (D) Only
Options:
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307217224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freffefed & § e e 9

(A) A SHE W (&l sae e SFier) W g o €

(B) NG 7 T2 W gRler Fel § SR {1 & Fifeh 78 T e ol wfu g
(C) G A A, (e wem ety wfty) T gwmen o 2

(D) a3 W 2 &t 2 (Aiferr e Yoay §f) T e o g

(E) G Serar] Gfte &l | o € & (A g fasifed Sifae) o gme e 2
el fou e fomedi # | WE S B T FC

(1) % (4), (B), (C) 4 (D)
() % (A), (B) 3 (C)
(3) % (B), (D) & (E)
(4) e (A), (B) R (D)
Options :

1.1

2.2



3.3
4.4

Question Number : 102 Question Id : 53307217225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct ?

(A) China has blocked India’s membership to NSG (Nuclear Suppliers Group)

(B) India has refused to be part of China promoted BRI (Belt and Road Initiative)
(C) Gujral doctrine believes in reciprocity

(D) India and China cooperate with each other in climate change talks

(E) Sino-Indian trade is an example of balanced trade

Choose the correct answer from the options gwen below :

(1) (A), (B), (C) and (D) Only
(2) (A), (B) and (D) Only

(3) (A), (B) and (C) Only

(4)  (B), (©) (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 53307217225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafaa # 4 #H-8 FR T €
(A) T 7T TG (T SRl G9E) % fAu YRE 1 GeR F1 g |

(B) T ¥ < W it & o7 (S U e effonfed) o fewwm 2 aveiR fr
(C) T i TREafeRal | fovarg % & |

(D) R 3R < Se@ry We i § T Go F Hed & & |
(E) G- TR, Hfer SR 1 T S |

T e T fomredi & | WE S A T i ;

(1) %@ (A), (B), (C) ¥R (D)

(2) A (A), (B) ¥R (D)

(3) @ (A), (B) # (C)

(4 % (), (C) (D) R (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 53307217226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct ?
A) India will not use its nuclear weapons against non-nuclear states

B) India is committed to no-first use of nuclear weapons

(
(
(C) India will transfer nuclear technology to friendly countries
(D) India will extend its nuclear umbrella to its friendly neighbouring countries in South Asia
(E) India will develop credible nuclear deterrent capability

Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only
2) (A),(B) (C) and (E) Only
3) (A), (B) and (C) Only
(

@ |
3 @)

() (4), (8) (D) and (E) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 103 Question Id : 53307217226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfea & | FiH-8 FHor T § 2

A)  Rd TR GEHI] T2 o foreg 10 GUAIY] S o1 I9ERT el L |

B) IR TRHIV] ST I WYW YA Tl T |

) W 370 T T R ST SfTeRT ST e |

D) 9Rd 3791 GTHTY] S Sferor wfern ¥ a7 fird el @ ferefid s |
E) 9d forvesma qeaT W&eh &Hal 1 faerm e |

A4 feu U foredi © | We SR H 99 Hif

(1) %9 (A), (B) 3 (E)

2) a4 (A), (B), (C) &R (E)

3) (A), (B) #1R (C)

4) (A), (B), (D) ¥R (E)

M

(
(
(
(
(

Fad
Fae
Options :
1.1

2.2

3.3
4.4

(
(
(

Question Number : 104 Question Id : 53307217227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



India believes in and practices strategic autonomy in its foreign policy.
(A) India refused to be a party to any military alliance during cold war
(B) India procured its weapons from all possible sources

(C) India yielded to American pressure to reduce its oil import from Iran
D)

[ndia refused to yield to Western pressure to not to 'u:nport ol from Russia because of its
Ukraine nvasion

(E) India refused to sign NPT and CTBT to protect its strategic autonomy
Choose the correct answer from the options given below :

() (A),(8)and (C) Only

2) (B), (C) and (D) Only

3) (A), (B) and (E) Only

@
) (@A)
() (A), (B)and (D) Only

Options:
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307217227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 3 fere A o e wer o fovang e & o T o of e E

(A) T 3 ¥ 7 o SO Torel 572 et W 21 9 opeeliert foren |

(B) T A & R § Hor il § W fore

(C) RT3 § G 1 ST e o for STufeaet <l o 9 3 |

(D) T T T % ST & RO FE A 00 A T FA 5 5oy H el o 6 e F
1 T

(E) T 7 ST Wi W o 6 5 T 2 S A o & R geR 7 4 el )

el few U el o 9 W SR o 5 I

Options :
1.1



2.2
3.3
4.4

Question Number : 105 Question Id : 53307217228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

India’s diaspora is a strategic asset for the country.

(A) India receives largest volume of remittances

(B) Ilegal Indian migrants have given a bad name to India

(C) Indian Americans played key role in the passing of Indo-US nuclear deal

(D) India trained Engineers were instrumental in ushering in IT revolution in the US and then
bringing it to India

(E) Indian Diaspora is a source of soft power for India

Choose the correct answer from the options given below :

(1) (A) (©), (D) and (E) Only

(2) (A), (), (C) and (D) Only
(3) (A)and (B) Only

(4) (A), (B) and (C) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 105 Question Id : 53307217228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 AT S (SI) 29 o feft O St 4o €|
(A) R 1 Tl W H T ¢ T g4
(B) &Y YR Vel & WG A Bfa T g ¢
(C) et amife et 3 s-avifienn o e wewq yfve fug 2
(D) e g e S amfi  om-2 § e o a9 TeE ) 9T AR § 9 T €
(E) T 1 Yol <9 §E 4T o et 1 Wi (70 W) 1 T & |
A4 feU U fomredl o § WE S A 75 Ff
(1) ¥d (A), (C), (D) ¥ (E)
) %A (A), (B), (C) &R (D)
) % (A) & (B)
) (A), (B) 3 (C)
Options :
1.1
2.2

3.3
4.4

(2
G)
&

Question Number : 106 Question Id : 53307217229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List- 11
(A) Shimla Agreement (I) Jawahar Lal Nehru
(B) Tashkent Agreement (II) Indira Gandhi
(C) Indus Water Treaty (Ill) Manmoham Singh

(D) Indo-US Nuclear Agreement (IV) Lal Bahadur Shashtri

Choose the correct answer from the nptinns given below :

(1) (A)-(I), (B)-(IV), (C)-(1), (D)-(IL)
(2)  (AHIV), (B)(ID), (C)-(I), (D)-(I)
(3)  (AHIV), (B)-(IIL), (C)-(ID), (D)-(D)
(4) (A1), (B)-(IV), (C)-(1I), (D)-(I)
Options :

1.1

2.2

3.3



4.4

Question Number : 106 Question Id : 53307217229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 frer shifs .
Tl-1 -1
(A) e qwEiar () <O o T8%
(B) TYTRE THEiar (1) sfa mef
(C) Tay =& 4fy (1) wHred foe
(D) WRA-SHTER GTHTY] G (IV) e Sergl IImE

= feu o foehedi # | W& TR F =99 ST
(D) (A1), (B)-(IV), (O)-(0), (D)-(IIL)

(2)  (A)HIV), (B)-(1D), (O)-(D), (D)-(II)

(3)  (A)-(1V), (B)-(II), (O)-(1D), (D)-(T)

(4) (A, (B)-(1V), (O)-(), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 107 Question Id : 53307217230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) Doklam Confrontation (I)  Atal Bihari Vajpayee
(B) Bangladesh War (II) Lal Bahadur Shastri
(C) Kargil War (IlI) Narendra Modi

(D) 1965 Indo-Pakistan War (IV) Indira Gandhi
Choose the correct answer from the options given below :
(1) (A, (B)-(V), (O(1), (D)-(I)

(2)  (A)HIV), (B, (O~(1), (D)-(I)

(3) (A, (BHIV), (O(1), (D)-()

(4) (A1), (B)-(I), (O)~(IL), (D)-(IV)

Options :



1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307217230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 -1 =1 frem s#ifs

ge-1 gei-11
(A) ErEFAM THEE () 312 feredl srer
(B) @Y IH (II) el sREIgT IME
(C) wfa I3 (IIT) g H&t

(D) 1965 &1 YRA-UIfFEaH 4§ (IV) sf<u mied
= feu 7o foeredi § | W& SO &1 =44 Fife
(1)  (A)-(II), (B)-(1V), (O)-(I), (D)-(II)

(2)  (A)-(IV), (B)-(IIL), (C)-(I), (D)~(IL)

(3)  (A)-(II), (B)-(IV), (C)-(1I), (D)-(I)

(4) (A)(ID), (B)-(D), (O)-(1L), (D)-(IV)

Options:

1.1

2.2

3.3
4.4

Question Number : 108 Question Id : 53307217231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(A) Indo-Soviet Friendship Treaty (I) Narendra Modi
(B) Pokhran II (II) Narsimha Rao
(C) Look East Policy (III) Atal Bihari Vajpayee
(D) Panchamrit (IV) Indira Gandhi

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(1D), (O)-(I), (D)-(IV)
2  (A)-(IV), (B)-(II), (C)-(T), (D)-(I)
(3)  (A)-(), (B)-(1V), (O1D), (D)-(I)
(4)  (A)-(IV), (B)II), (O)~(1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307217231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Git-1 9 Geit-11 =1 faear s
-1 get-11
(A) YRG-¥g 1 Gfy () %z #rel
(B) WY - II (I TfEe =
(C) o 3% Hifd (1) &1ea faert arsoet
(D) v=ga (1v) sf=a eh

= fou T fasredi § | W& SO 1 999 Hife
(1) (A)-(IIL), (B)-(1D), (©)-(I), (D)-(IV)
(2)  (A)AIV), (B)-(1LL), (C)-(1), (D)-(IT)
(3)  (A)-(I), (B)-(IV), (C)-(1I), (D)-(I)
(4)  (A)IV), (B)-(IID), (O)(1D), (D)-(T)
Options :
1.1
2.2
3.3
4.4



Question Number : 109 Question Id : 53307217232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the Reserve Bank of India was established ?

() 1951
(2) 1971
(3) 1935
(4) 1947
Options :
1.1

2.2

3.3

4.4

Question Number : 109 Question Id : 53307217232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR Too7d sfeh o1 91 e i T8 o ?

(1y 1951
(2) 1971
(3) 1935
(4) 1947
Options :
1.1

2.2

3.3

4.4

Question Number : 110 Question Id : 53307217233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which does not come under All India Service ?
(A) Indian Administrative Services

(B) Indian Police Service
(C) Indian Foreign Service
(D) Indian Forest Service
(E) Indian Custom Service

Choose the correct answer from the options given below :
(1)  (A), (B), (C) Only

2 (A) (B), (©), (D), (E)
(3)  (B), (O, (D), (E) Only
(4) () and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 110 Question Id : 53307217233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes § | =9 fge yrdm da & sfaia 78 €2
(A) WA JImEfTeR Fen

(B) WRA™ Yferd Hal

(C) wRdE e 9an

(D) WRA™E a9 |

(E) WRAT™ HIH-Yeeh &a

= feu 7o foeredi § | W& SO &1 =44 Fife

(1) = (A), (B), (O)

(2) (A), (B), (©), (D), (E)
(3) 54 (B), (O), (D), (B)
(4) (O ¥R (D)

Options :

1.1

2.2

3.3



4.4

Question Number : 111 Question Id : 53307217234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The cornerstone of the ECI's mandate derives from Article 324 of the Constitution.
(A) Article 324 mandated that the commission is to be led by a Single Chief Election Commissioner

(CEC)
B)  The president can appoint additional commissioners
C
D
) During the Election Period CEC acts as Chief Executive Officer of Government of India

(
(C) Judiciary is barred from interference in the election process
(D) Election Commission also conducts the elections of Panchayats
(£

Choose the correct answer from the options given below :

1) @A) ®),©) ) E)

@ () @) (©
() (8), (C) D) (E)
@ (A4) O 0) €
Options :

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 53307217234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W3 H, (& T ) & AT H1 STU FHH o e 324 | 9T &eh ¢

(A) =G 324 1 75 SIQY ¢ o S 1 Age Tkl WA 90 g (W1 3 ) F ¢
(B) e sHffiary TRy AR 1 R R WA ¢

(C) 1@ Wiska ¥ =Araiicreh] & gwia § afdd o T €|

(D) Ta SR T o off TE I €

(E) T8 % A T 3 H 9N TR F [ FrEn S % €9 § w0

el fou T foedl W & W& SO A1 < HIC ;

(1) (A), (B), (©), (D), (B)
() (A) (), (C
() (@), (C) (D) (E
(4) (A),©), D) E



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307217235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(A) First Lok Sabha Election (I) 1950
(B) Adoption of the Constitution (I)y 1949
(C) First Republic Day (II) 1975
(D) Promulgation of Emergency (IV) 1952

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(11), (C)-(I), (D)~(I)

(2)  (A)-(1D), (B)-(I1D), (C)-(I), (D)-(IV)
(3) (A)(I), (B)(1D), (C)-(D), (D)-(IV)
(4)  (A)-(I), (B)-(LI), (C)~(II), (D)-(IV)
Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 53307217235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .
'ﬁ:ﬁ.[ -11

(A) TYH Tk FH1 gAE (I) 1950
(B) HEH 37991 T (I) 1949
(C) T feerg (I) 1975
(D) SATUIAeRTA R =T (IV) 1952

= feu o foehedi # | W& TR F =99 ST
(D) (A)-IV), (B)-(1D), (O)-(1), (D)-(IIL)

(2) (A1), (B)-(), (©)-(I), (D)-(1V)

(3) (A, (B)(1D), (©)-(1), (D)-(IV)

4)  (A)AD), (B)-(I), (C)-(II), (D)-(1V)

Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 53307217236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following statements are not correct about the Parlimentary System of
Government in India ?

(A) All parties in the parliament are represented in the government

(B)  The Government is responsible to the Parliament and can be removed by it

(C) Government is elected for a fixed term
D

The Government is chosen by the Parliament and cannot be removed before completion of its
fixed term

(E) An independent body is established by the constitution for free and fair election
Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B), (C) and (E) Only
(3) (C) and (D) Only

(4)  (B) and (E) Only
Options :

1.1

2.2



3.3
4.4

Question Number : 113 Question Id : 53307217236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et & s G I O o R S e A e R

(A) GG H 9 3l 1 o TR | E ¢

(B) TR T % U FACH & 5N T T g T ¢

(C) TR F fafer v fafvem srafiy o for 2 €1

(D) TR 1 T TGE A € oo 30 Fraa orafen i 8 o vee T gern o vk £
(E) 9% 51 T T e 1 e o T & e e o e 9e @ e
et feu T foskedi © 9 WE S 1 799 FIC

(1) %99 (A) 3R (B)

() %9 (B), (C) 3 (E)

(3) a9 (C) ¥R (D)

(4) o (B) N (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 114 Question Id : 53307217237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Among the following challenges to Indian Democracy, which one is not related to Globalization :
(A) De-politicisation

(B)  Roll back of welfare state

(C) Politics of defection

(D) Decay of nation-state

(E)  Crony capitalism

Choose the correct answer from the options given below :

(I) (A)and (B) Only

() (©) Only

(3) (A)and (E) Only

(4) (A), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 114 Question Id : 53307217237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR Ak i fefefea § § SR-1 feal yHedem ¥ geftn 76 8 2
A)  FARTHRC

E) #HA FHfefa

A fou o foredi § 9 WE TR H1 =TI FHf ;
(1) 3 (A) ¥R (B)

() W@ (O)

(3) FE (A) 3R (E)

(4) = (A), (D) ¥R ()

Options

1.1

2.2



4.4

Question Number : 115 Question Id : 53307217238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the Election Commission for being considered as a national party, a political party
should atleast have which of the following qualification ?
(A) It should be recognised as a state-level party in four or more states

(B) In General Elections the party must manage to win six percent of the votes and win atleast
four Lok Sabha seats

(C) It has to win a minimum of two percent of the seats in the Lok Sabha from atleast three
different states

(D) The state party plays a vital role in regional political system in India

(E) It should be recognised as local level party in seven or more states

Choose the correct answer from the options given below :

(1) (A) and (B) Only

2} (A), (B) and (C) Only

3)  (A), (B), (C) and (D) Only

@
3 |
(4)  (A), (B) (C) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 53307217238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A ST % AR e T 5 o T2 aa e o fo Pl § 9 @R 6 A &

Afen’

(A) W =R 3 oHfvr T T 6 O o W

(B) T A H TH et o T YT W T KA AET 91 o § R Al F9 e R o
FA e

(C) %W A W 1 fafvret Tl & G 5 A e < e e S e

(D) T4 IS ek et e § e Tsifees ot o Wev syfe froen €|

(E) 39! 5 A1 369 aAforr T H WM TR o T o &9 H 7 e e

1 few T ol W 9 e S 1 T A
(1) A (A) 4 (B)

(2) o (), (B) & (C)

(3) = (A), (B), (C) 4R (D)

(4) o (A), (B), (C) N (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 53307217239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true ?

(A) The constitution of India allows the state to intervene in matters of religion in order to ensure
equality among religious communities

(B)  Constitution prohibits discrimination on the grounds of religion

(C) The Constitution provides to all individuals and communities freedom to profess, practice
and propogate any religion or not to follow any

(D) The Constitution of India advocates the titles of military or academic distinction for the citizen
of India

(E) Fundamental Rights are non-justiciable rights
Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only

(2) (B) and (C) Only

() (A), () and (C) Only

(4)  (A), (B), (C) and (D) Only
Options:

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 53307217239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et # @ 3-8 FoF T § 2

(A) T HaHA T4 B 9 o AHCl H FEAY F I AT oA ¢ A o e & o
A A @ 5

(B) e H v 3 SR W e 3 fiy fern T 2

(C) o ¥ Wil SATarTal 7o Toerdl o el 0t o1 R ST T, T S i T I
F 1 @A 4 T ¢

(D) et e e 3 AT & o 4 ehern afrer wwfeat = fere e €1

4 fou o feped & B W@ R 7 T F0

(
(
G
(

Options:



1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307217240 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which statement are incorrect with reference to the Election Campaign n India ?

A)  Government provides resources for the election campaign

B) No party or candidate can bribe or threaten voters

D) No party or candidate can appeal to voters in the name of caste or religion

(
(
(C) No party or candidate can use any place of worship for election propaganda
(
(

E)  Once elections are announced, ministers shall not lay the foundation stone of any project or

make any promise to the voters

Choose the correct answer from the options given below :

(1) (A) Only

() (A), (B)and (C) Only
() (8 and (D) Ouly
4 (A) D) and ) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307217240 Question Type : MCQ Option Shuffling : No



fomferfia 2 97 71/ For o e A & el e 88

(A) TR 74 JaR F fore Tem Jem e 2

B) V% 3@ 71 ICam Weeiaial 1 v 7 & WA & % 3% S0- R ) W ¢
C) & &0 9 IRRaR A YR o forw, ol SO et o1 S ] a6 R ¢
D) ¥ T 99 SPeam fe 21 W & W W Weewen ¥ et W R g |

E) T a1 90 1 SO0 ) ST R R el o me iR T T W § A9 e
79 T ¢ W€

(
(
(
(

3 fer et 9 W I T A
(1) % (A)

() 9 (A), (B) o (C)

(3 % (B) R (D)

(4) 9 (A), (D) T (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 53307217241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the President of India resigns he/ she addresses resignation letter to :
(1) The Prime Minister of India

2
3
e

(2) The Chief Justice of Supreme Court
(3) The Vice President of India

(4) The Attorney General of India
Options:

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 53307217241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e A 1 AT TS S € & 9 ST AT R T St € 2
(1)  WRd 1 94H 50

(2) SH A F S A
(3) 9Rd 1 Te2ufd

(4) 9RA N HRTEEAG]
Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 53307217242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Basic Structure” is outcome of :
(1) Original Constitution of India
(2) Constitutional Amendment
(3) Executive Order

(4) Judicial Interpretation
Options:

1.1

2.2

3.3
4.4

Question Number : 119 Question Id : 53307217242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“oet HrE! foRaeRT o © 2
(1) 9RA =R g1 S

(2) Efeum g
(3) HEFRT RS
(4) =afgeR oA
Options

1.1

2.2



4.4

Question Number : 120 Question Id : 53307217243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is a justiciable right ?
(1) Directive principles of the state policy
(2) Fundamental Duties

(3) Preamble

(4) Fundamental Rights
Options :

1.1

2.2

3.3

4.4

Question Number : 120 Question Id : 53307217243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes § | =9 a1 afasr = €2
(1) T4 % Hifq ok T

(2) WA HAA

(3) &G

(4) W SAER

Options:

1.1

2.2

3.3

4.4

Question Number : 121 Question Id : 53307217244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the Commissions or Committees for improving Centre State relations in India in ascending
order.

(A) Balwant Rai Mehta Committee

(B) Sarkaria Commission

(C) Punchhi Commission

(D) Bhore Committee

(E) Rajmannar Committee

Choose the correct answer from the options given below :

1) @A) 6),©) ) E)

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307217244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WG - T it H g ferw nfem ettt s an wfifdl o S o A Srafe i
(A) e @ e g
(B) T ST
(C) Yot smm
(D) R Hf
(E) T HfAfd

i fou T ol 9 et S 1 T A ;
(M) (A) @), (©, ) E

@ (A) ) @) ) E

&) (D) (4), (B) ) ©)
(4) (A) D), E)

(
(E), (B), (
), (D), (E), (B), (C)
Options :

1.1

2.2

3.3



4.4

Question Number : 122 Question Id : 53307217245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fh’range the fﬂllnwing states with respect of their year of formation in ascending order.

(A) Bihar
(B) Rajasthan
(C) Nagaland

)

(D) Gujrat

(E) Himachal Pradesh

Choose the correct answer from the options given below :
(1) (A) (B), (©), @) (E)
(2) )

(3)
4 (), (B

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307217245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fretferfas il %1 37 fed @1 % o % St sw o i Fi
(A) TR

(B) SRIA

(C) i

(D) o

(E) feur=ral wew

T feu o fomedl § | wE O #9949 FHif
(1) (A), (B), (©), (D), (E)

@ (A)(©), (B), (D) (E)

(3)  (A) (B), (©), (B), (D)

4) (©), (B). (D), (E), (A)

Options :



1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307217246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With the reference to Indian Political System, consider the following statements.
(A) One salient feature of Indian Political System is the combination of centralisation and
decentralisation
(B) Indian political system throughout the British period was very much dominated by religion
(C) In Indian Political System the real executive power is with the President
(D) The Government System is based on three organs, Legislative, Executive and Judiciary
(E)  The Bureaucracy plays a minimalistic role in Government System
Choose the correct answer from the options given below :
(I) (A) and (B) Only
2) (A), (B) and (C) Only
3) (A), (B) and (D) Only
)

@ |
@) |
() (A) (B),(C), (D) and (E
Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 53307217246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



R Tt Jomel & Hed § fefafad o w fEm Fif

(A) IR THiTas: JOTe i T e forima e SR o & w4 8
(B) fofew o1 ¥ ¥ § af o wRdr TeHifos Jonet H 4 e W o

(C) el TSFifeek Jomeit # areafads FrRiwers e T2 F I €

(D) TR I TONGH T ST~ FereTiares) racr 3R e W S )

(E) e, TR Joe ¥ = v, fAmd )

i feu e fomredi § 9 W@ S H TG4 R

(1)
(2
(3)
(4)

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307217247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the statements about Constitutional Government.
(A) Itis aform of limited government

(B) One where Constitution is the basis of public authority
(C) One where Prime Minister is the formal head of the state
(D) One where there is always universal adult franchise

(E) One where there is always limited adult franchise

Choose the correct answer from the Dptinns given below :

(1) (A) and (B) Only

(2)  (A), (B) and (C) Only
(3) (A), (B) and (E) Only
(4) (A), (B), and (D) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 124 Question Id : 53307217247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Haunfer TR &F o) ¥ frafafas weEt w fo=m i
(A) e Hifd TR F T €9 2|

(B) TRl WAL Tiich WIfErsh &1 3TYR T |
(C) el gt =i &9 o Teomeast ¥ |
(D) STl Hed Heewid 99w WAt ¥

(E) Tl Ted Fifoa Joweh Harfesr 2 |

% faw o famedt # § W TR F F9 FIAC -
(1) A (A) 3R (B)

(2) 9 (A), (B) ¥R (C)

(3) A (A), (B) 3R (E)

4) (A),(B) 3 (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307217248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which is/are group of people who come together to contest election and hold power in the
government ?

(A) Pressure Group
(B) Political Party

(C) Interest Group
(D
(

E) Religious Group

Business Lobb}F

Choose the correct answer from the options given below :
(I) (A)and (B) Only

@) (B) Only
() (B), (C) and (D) Only
(4) (C), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 53307217248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

refefiad & & <l o 6 T I €, S AR e e € Sl TR iR g ¢ 7
(A) oI TR

(E) onfiih Hg

A U U fosedi § 9 W& SR F T FIC
(1) (A) %o (B)

() % (B)

() () (O D

(



3.3
4.4

Question Number : 126 Question Id : 53307217249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(A) Cooperative Federalism (I)  Nit Aayog
(B) Bargaining Federalism (I) K.C. Wheare
(C) Competitive Federalism (II) Granville Austin
(D) Quasi-Federal (IV) Morris Jones

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(1I), (C)-(1), (D)-(I)

(2)  (A)-(I), (B)-(IV), (C)=(I), (D)-(IT)
(3)  (A)-(IL), (B)-(IV), (C)-(1D), (D)-(D)
(4)  (A)-(D), (B)-(I), (C)-(L), (D)-(IV)
Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 53307217249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e sifs .

Tl-1 -1
(A) TEANHF GG ()  ifa s
(B) Hrearsii GeEre (AT Beesw) () .4 =eR
(C) wfaegyiers Hears (1) IAfaa st
(D) #G-GeEE (1Iv) Hiftg s

= feu U foeredi § 9 Wer SO &1 =949 Hi
(1) (A)-(IV), (B)-(11I), (O)-(1), (D)-(II)
(2) (A1), (B)-(1V), (O)-(1), (D)-(I)
(3)  (A)-(I), (B)-(1V), (O)-(1L), (D)-(I)
(4)  (A)-(D), (B)-(ILI), (CO)-(II), (D)-(IV)



Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307217250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which 1s the nodal agency to achieve Sustainable Development Goals in India ?
(I) Niti Aayog
2)  Ministry of Environment, Forests and Climate change

(
(3) National Environment Engineering Institute
(

)
4) Indian Institute of Sustainable Development

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307217250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

aRa  GUrRoy foerrg @ei 1 wifta & fou =59 97 Tred w872
(1)  ifa s

(2) TFfeRY, 9 SR Sy Iiadd wlled
(3) T HTEor S e

(4) R HYRUd fomm Heam
Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 53307217251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



System Theory focuses on the study of organisation as a :
(1) Continuous system

(2) Cooperative or Collaborative system
(3) Disorganised system

(4) Constrained mechanism

Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 53307217251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

vorrel! Tagia fFa &9 o 9189 3 1599 W I Fiad el 22

(1) fEax gomed

(2) HEHR HeArTcHeE JorTed!
(3) SreHaEfErd gome

(4) Treg a3 (F=g~ HHfFH)
Options:

1.1

2.2

3.3

4.4

Question Number : 129 Question Id : 53307217252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Management by objectives was the key idea put forward by Peter Drucker in :
(I) Managing for Results

(2) The New Society

(3)  The Frontier of Management
(4) The Practice of Management
Options :

1.1

2.2

3.3

4.4



Question Number : 129 Question Id : 53307217252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
gt gt A freafofad | | fored SRy g6 1 qe fomm g&a fwm a1?
(1) #AfsT ®R feieeq
2) T EEEE
3) T WA HiE HAwHE
4) T Yl F HeHe

Options :
1.1
2.2
3.3
4.4

L

(
(
(

Question Number : 130 Question Id : 53307217253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who contendled that “we are concerned only with finding a choice mechanism that will lead it to
pursue a “satisficing” path, a path that will permit satisfaction at same specified level of all of its
needs” ?

(I) Mary Parker Follett

(2) Chester Barnard
(3) Max Weber

(4)  Herbert Simon

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307217253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



for ¢ 4 e o0 e et <9 o 3 o e o & ferw feffm € < ) el 3 erpm
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(1) ¥ R P

) AR

3) W o

4) 7 W

Options :

1.1

2.2

3.3
4.4

(
(
(

Question Number : 131 Question Id : 53307217254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Merton's criticism of bureaucratic theory :

(A) Displacement of goals '

(B) Trained incapacity

(C) Non conformity

(D) Depersonalisation of relationships

(E) Inadequate accountability and responsibility

Choose the correct answer from the options given below :

(1) (A), (O and (E) Only

(2)  (A), (B) and (D) Only
(3) (B), (C) and (D) Only
(4) (A), (B) and (E) Only
Options:

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 53307217254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



nﬁmﬁw@%fa@ﬁﬁmﬁw%:
(A) i 1 ferzems

(B) gfta taman (=T KU )
(C) TR-3FT&TaT

(D) el 1 TATHRIRL

(E) #IUaie Serdes! S SuLaEliae
= fou U faskedi § 9 e SO &1 999 FIf9
(1) = (A), (C) 3R (E)

(2) 9 (A), (B) ¥R (D)

(3) I (B), (C) ¥R (D)

(4) 9 (A), (B) I (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307217255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Rational Choice Theory’s impact on Public Administration has been strongly felt in the areas such
as ;

(A) Organization Behaviour

(B) Local Government

(C) Public Service Delivery

(D) Theory of Democratic Administration

Choose the correct answer from the options given below :

(I) (A), (B) and (C) Only

) (A) (8)and (D) Only
(3) (A)and (C) Only
(4) (B) and (C) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 132 Question Id : 53307217255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frreifeifiga # 9 for 41 <l e 0 aifig o fagia 1 S 1 9 wee fon mn &7
(A) HTET RN

(B) A W@

(C) ek o Jerl

(D) i Jome 1 g
= fou mu fomedi o 9 W& SR 1 T F
(1) ¥ (A), (B) 4R (O
(2) e (A), (B) 3T (D)
(3) e (A) M (C)

(4) % (B) 4R (C)
Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 53307217256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Development Administration encompasses :

(A) Activities relating to Centralization and limiting the number of agencies that deal with
development to be undertaken

(B) New management agencies and systems must be devised

(C) Introduction of competent planning and monitoring delivery

(D)

(

D

E) Regulating the agencies that deal with commercial activities

Appointing trained personnel to give specialized support

Choose the correct answer from the options given below :

(1) (A), (B)and (D) Only

() (A), (B)and (E) Only
() (B), (C) and (D) Only
(4 (A) [ and (D) Only



Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307217256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 53307217257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - I
(A) Stephen P. Osborne () The NPM : Improving Research and Policy Dialogue
(B) Chnistopher Hood () New Public Management : An Introduction
(C) Jan-Erik Lane (II) The Art of the State : Culture, Rhetoric and Public
Management
(D) Michael Barzelay (IV) Public Management : Critical Perspectives on Business and
Management

Choose the correct answer from the options given below :
(1) (AJ(L), (B-(L), (CH(I), (D)-(IV)
(2 (ARIV), (B)-(I), (CH{H), (D)-(1)
(3) (AR, (B, ©-(0), (D)-(1V)
(4) (AL, (B)-(1), (CHIV), (DHI)

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307217257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (AJ{T), (B)-(L), (CHII), (D)-(V)
2) (AHIV), (B, (O, (D)-(0)
) (A, (B)-(), (C)-1), (D}-IV)
) (AHID, (B)-(), (CHLV), (D))
Options :

1.1

2.2

@ |
@) |
@ |



3.3
4.4

Question Number : 135 Question Id : 53307217258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I1
(A) Theory of Motivation (I)  Mary Parker Follett
(B) Psychologically oriented imprint on research (I) Douglas McGregor

into industrial relations

(C) Administrative processes are more important than (II) Eltan Maye
hierarchy and authority

(D) Focus on values like citizen responsiveness, worker (IV) H.G. Frederickson
and citizen participation in decision making

Choose the correct answer from the options given below :

(1) (A0, (B}-(), (C)(), D)-(IV)

() (AMI), B)-0), (CHI), (D)-(IV)
@) (A)HI), B)-{), ©)-{0), (D)-{IV)
(4)  (AHIV), (B)(L), (C)-LD), (D)-([)
Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 53307217258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(2) (AR, B)-1), (C-(Im), (D)-1V)
(3) (A, (B)-(L), (C)-(1), (D)-IV)
(4)  (ARIV), (B)-(1D), (C)-(II), (D)-(0)
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307217259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person who s in the know of things and is willing to alert the controlling authority by disclosing
the corrupt act or practice that takes place.

(I) Lokayukta

(2) Ombudsman

(3)  Whistle Blower

(4) Central Vigilance Commissioner
Options:

1.1

2.2

3.3

4.4

Question Number : 136 Question Id : 53307217259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
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Question Number : 137 Question Id : 53307217260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which orgamsatiun pmvides arobust communication system and effective support for e-governance
in India ?

[nformation Technology Organisation

egm-'!ndia

)
) Electronic-Seva
)
) The National Informatics Centre

Options:
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307217260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307217261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Advantages of social audit.
(1) Encourages e-democracy

(2) Promotes collective decision making and sharing responsibilities
(3) Trains the community in audit practices

(4) Benefits local bureaucracy and elected representatives

Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 53307217261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

Question Number : 139 Question Id : 53307217262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ministry of Panchayati Raj, Government of India has initiated measures to make the Panchayats
vibrant. Arrange the following in sequential order, from earlier to later time.

(A) SVAMITVA Scheme, Property Survey
(B) Multi Bili Yojana to install rooftop solar and provide free electricity upto 300 monthly units

(C) Revamped Rashtriya Gram Swaraj Abhiyan (RGSA) with focus on localization of Sustainable
Development Goals

(D) Release of a standard operating procedure (SOP) regarding e-gram Swaraj to bring in better
transparency

Choose the correct answer from the options given below :

() (4)(C) (B and (D

@ ) (0 (A and ()

B (D) (A) (C)and B)

(0 (D) (4)and

Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 53307217262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR TCH o T 71 A I 4 e A o fere 3w v fou €| feffin 9 @ d e
o T T FHIER S I

(A) I (SVAMITVA) A, i Felem

(B) 0 TR Sl 1 A e fowieh 1o iR s ¥ | 300 3 e fowelt v & |
(C) Wi ferr el o TR W AW hied 0 3 WO T W w0 S

(A THT,)

(D) e TRERTAN M % o0 3-T W@ o Ha H qIh Fara manl (T AW, ) % T e |
et few T foeredl ® W S T I

() (4)(0) () & D)
2 ) (C)(4) &R D)
6) (D) (A),(C) ¥ @)
@ () (D) (A) 4 @)

Options :
1.1



2.2
3.3
4.4

Question Number : 140 Question Id : 53307217263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

New provisions under the Consumer Protection Act include :
(A) Strict Norms for misleading advertisements

(B) Establishment of Central Consumer Protection Authority
(C) Inclusion of E-Commerce, Direct selling

(D) Alternate Dispute Resolution through Mediation

(E) Powers of Consumer to complain have been restricted

Choose the correct answer from the options given below :

(1) (A), (B), (D) and (E) Only

(2) (B), () and (D) Only

(3) (A), (B), (C) and (D) Only
(4) (A), (B) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 53307217263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A), (B), (D) 3 (B)

(2) (B), (O 3R (D)
(3) (A), (B), (O) ¥R (D)
(4) (A) (B) ¥R (B)
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072675
Question Shuffling Allowed : No

Question Id : 53307217264 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following passage and answer the questions given below :

The debate between the Neorealists and the Neoliberals emerged in the 1970's and developed over
the next two decades into the major theoretical controversy within IR, Waltz himself contributed to the
classical brand of Realism with his "Man, the State and War" (1939) which echoed Morgenthau’s and
Cart's treatment of [R as anever-ending series of conflicts among states trapped in a condition of anarchy.
Twenty years later, Waltz published his theory of International Politics (1979) in which he sought to
explain the causes of wars. The structural realism is captured in the concept of the balance of power.

This system is where we need to focus our attention because its all constituent units perform the
same functions in that system, regardless of where they are located in the system, their ideology and
culture. Waltz argues that bipolar systems are more stable than multipolar systems. According to him in
international relations the idea of the system is all important.

Sub questions



Question Number : 141 Question Id : 53307217265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has written the book "Man, the State and war’ ?
(1) Kenneth Waltz

(2) E.H. Carr

(3) Morgenthau

(4) Edward Said

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307217266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the time frame of the evolution of Neorealists ?

(1) 1950's
(2) 1960’s
(3) 1970's
(4) 1990's
Options :
1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 53307217267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Waltz which system is better to prevent the war.
(1) Bipolar system

(2) Multipolar system
(3) Unipolar system
(4)  Unit Veto system
Options :

1.1

2.2

3.3



4.4

Question Number : 144 Question Id : 53307217268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Waltz what does he mean by system.
(1) System is an ideological construct

2)

(3) System does not follow any order

(4) Unit individual states do the same thing

System is run by a powerful country

Options:
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307217269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is not realist ?
(1) E.H. Carr

(2) Morgentheu

(3) Kenneth Waltz
(4) Robert Keohane

Options :
1.1
2.2
3.3
4.4

Question Id : 53307217264 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 53307217265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 53307217266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1



2.2
3.3
4.4

Question Number : 143 Question Id : 53307217267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 53307217268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 53307217269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 533072676
Question Shuffling Allowed : No

Question Id : 53307217270 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions given below :
Directive principles are not enfoceable by the courts. The sanction behind them, is political.
As Dr. Ambedkar observed in the Constituent Assembly, “If any government ignores them, they will
certainly have to answer for them before the electorate at the election time”. DPSP is a part of the
Constitution. Article 37 unequivocally enjoins that ‘It shall be the duty of the state to apply these principle
in making laws'. Hence it should be competent for the Union to issue directions against particular states
to introduce compulsory education for children Article 45, to prevent Slaughter of Cows (Art. 48),
prohibition of alcoholic drinks Art (47). In case of refusal to comply with such directions issued by the
Union, it may apply Art 363 against such recalctriant state. Sir Ivor Jennings characterised DPSP “Pious
Aspiration” and also questioned the utility of importing it into India of the 19th Century, English
Philosophy of Fabian Socialism without the Socialism’ Granville Austin considers these directives to be
“aimed at furthering the goals of the social revolution”, Besides the Directives contained in part IV, there
are certain other Directives addressed to the state in other parts of the Constitution. Art 350 A enjoins
every state and every local authority within the state to provide adequate facilities for instructions in the
mother-tongue at the primary stage of education. Art 351 enjoins to promote the spread of the Hindi

language. These instructions are not part of DPSP but carry the same value.

Sub questions

Question Number : 146 Question Id : 53307217271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who proclaimed that the Directive Principles of State Policy is an attempt to import Fabian Socialism
without Socialism ?

(1) BR. Ambedkar

(2) ] Nehru

(3)  Sir Ivor Jennings

(4)  Motilal Nehru

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307217272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which article of Directive Principles was brought into fundamental rights through 86th amendment
of the Constitution ?

(I) Right to Education of Children Art. 45
(2) Atticle 48 Slaughter of Cows

(3)  Article 47 Prohibition of Alcohol

(4)  Article 51 International Peace

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307217273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Chairman of the Drafting Committee Dr. Ambedkar observed about directive principles, “If
any government ignores them, they will certainly have to answer for them before the electorate at
the time of election.”

What does he mean by this observation :

(1) Itis unethical

(2) Itisillegal
(3) Itis political
g

4)  Itis philosophical

Options :
1.1



2.2
3.3
4.4

Question Number : 149 Question Id : 53307217274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who said “Directive Principles are merely furthering the goal of Social Revolution” ?
(1) BR. Ambedkar

(2) G. Austin

(3) Ivor Jennings

(4) D.D. Basu

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307217275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Article instructs the government to incorporate directions given under the Directive Principles
in formulating the policies ?

) Article 37
) Article 365
) Article 3
) Article 51

Options:
1.1
2.2
3.3
4.4

Question Id : 53307217270 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 53307217271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307217272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307217273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WY Tfufe % anery o arvreeR 1 T AT F PRV o A H e o' At FE wem
T I FE 2 T TR el & wee ffves w9 8 g e am”

T e & Y g

(1) % ofe &

() THMT

(3) 7 TSI &

(4) % CuiFE g

Options :

1.1

2.2

3.3
4.4

Question Number : 149 Question Id : 53307217274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :



1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307217275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4





